Name

Date

1. Use the place value chart and arrows to show how the value of the each digit changes. The first one has
been done for you.

a. 3.452x10=_ 34.52

[ )
3 4 5 2
’/ '/ L
kst <7
b. 3452x100=_B 45,2
®

3/
21415112

c. 3.452x1,000=

Z 5 TR

O | Y [5duph

d. Explain how and why the value of the 5 changed in (a), (b), and (c).

1 ) 6 goes from hundredbing 4o derthns because
the wumleer 3.452. wos L«m'»fhg?fﬁed/ L:'y lo.

In [0) ‘53065 Lromw huy,ved ths o <‘>VIC5~ lpe ceur s€
the num ber 3,452, was muljrlpheab b3 100«

1n O Sgoes fiom hurdyedthe to Jens ecavse
; 1he vumber  3.U5z  wie me“\y\iﬁd/“bj \0o.

EU“KA Lesson 1: Reason concretely and pictorially using place value understanding to
- relate adjacent base ten units from millions to thousandths
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2. Use the place value chart and arrows to show how the value of each digit changes. The first one has been
done for you.
a. 345+10=__ 345

[ ]
3 4 5
s & . 3 e
™ \4 = g
b. 345+100= 5\35’2
®

= 345+1,000=O-35—L5
S i L

S| ALals

d. Explain how and why the value of the 4 changed in the quotients in (a), (b), and (c).
n o) Whew 345 5 divided by 104 e value of
H qees Lom do T A e
1o b) 3ug 15 Aivided by e, o the VAEE
ol goes TTOY. HO T At

T ) 349 15 divided ‘03 loo0y e the Value
AU opes fyom Ho % 0-04

EUR!KA Lesson 1: Reason concretely and pictorially using place value understanding to
MATH- relate adjacent base ten units from millions to thousandths
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3. A manufacturer made 7,234 boxes of coffee stirrers. Each box contains 1,000 stirrers. How many stirrers
did they make? Explain your thinking, and include a statement of the solution.

Eaclh b&x Com’(afns Helele CQHC Sthe(S» 50
223U boxes ave To confaune 7,234,006 -

Theve ave 7,484,000 coffee shevery

4. Astudent used his place value chart to show a number. After the teacher instructed him to multiply his
number by 10, the chart showed 3,200.4. Draw a picture of what the place value chart looked like at first.

Sl

a. Explain how you decided what to draw on your place value chart. Be sure to include your reasoning
about how the value of each digit was affected by the multiplication. Use words, pictures, or
numbers.

T decided to divide 2004 EVJ[ Xe "‘,“ shrabofs
Yo find the oriqnal numlber thatl wes
multiplied loy (O-

5. A microscope has a setting that magnifies an object so that it appears 100 times as large when viewed
through the eyepiece. If a tiny insect is 0.095 cm long, how long will the insect appear in centimeters
through the microscope? Explain how you know.

0.009 *10o = A.5 cpv lon g
0{3“&0u>aww{‘,5 s Lo \wwdreob
e @ weS 4.5 cov \ong %waufjl/b
the Wit (f 050 P&/

e I e Bl i el I

s =
EUREKA Lesson 1: Reason concretely and pictorially using place value understanding to
MATH. relate adjacent base ten units from millions to thousandths
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Name Date

1. Use the place value chart and arrows to show how the value of each digit changes. The first one has been
done for you.

a. 4.582x10=_ 45.82

®
4 5 8 2
. ,/ . =
4 SZ SL/ 2[
b. 7.281x 100 = zag"l :
: ®
L bk ]
Ve e R

c. 9.254x 1,000 = q ;2 fs L/

3L 5

], A5 4

d. Explain how and why the value of the 2 changed in (a), (b), and (c).
j_n a) 9\ oeS fromy Tlfzou§awﬁh5 *f’
e couse I was multiplied py L0 ‘
i b) ; & 61))/\/\/ \UA‘W\S Hfo tews hecauge | +
wog mu\H ;{O o5
300 2008 Qwvw Yells d2 v digds bdlﬂuﬂ; ok wos~

lace value di ,\/\ b
EUREKA Lesson 1: Reason concretely and pi ctorially us sing place va ders:an ing to WW Y ‘ed, 3 loo4@

\/\um&(ew/lg |

MATH_ relate adjacent base ten units from millions to thousandth:
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2. Use the place value chart and arrows to show how the value of each digit changes. The first one has been

done for you.
a. 246+10= 0.246
®
. e
N : N . Y e
b. 678+100= (éb] g
= -

e | [ |8

. 67:1000=_00067

&7
Ol|C |6 |

d. Explain how and why the value of the 6 changed in the quotients in (a), (b), and (c).

Tnd) b e divided loy lo, SOJ;E/QM $rom
' hundzd ths to ‘H’LouSaV*

In V) (s divided l/,)? O , so 2k Gt sl
hundredse o enes -
tn &) b s diided By 1000,

EU“KA Lesson 1: Reason concretely and pictorially using place value understanding to

relate adjacent base ten units from millions to thousandths
© 2014 Common Core, Inc. Al rights reserved. commoncore.org
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3. Researchers counted 8,912 monarch butterflies on one branch of a tree at a site in Mexico. They
estimated that the total number of butterflies at the site was 1,000 times as large. About how many
butterflies were at the site in all? Explain your thinking, and include a statement of the solution.

§ A1 % loco= ,alR, 000

There were a/mwmm"c// 8,9/2) 600 Yuterflies-

4. Astudent used his place value chart to show a number. After the teacher instructed him to divide his
number by 100, the chart showed 28.003. Draw a picture of what the place value chart looked like at -

first. A ag/ 005 X(OC) = ‘ngj
[

78 1 0 LB

a. Explain how you decided what to draw on your place value chart. Be sure to include your reasoning
about how the value of each digit was affected by the division.

The stdent.divided 1he numéw by Jso, |
So the or/j/mz/ nu st s a hundred

Himes 'lgfﬂger G 3. 063

5. Onamap, the perimeter of a park is 0.251 meters. The actual perimeter of the park is 1,000 times as
large. What is the actual perimeter of the park? Explain how you know using a place value chart.

0~ Z5TX UppOBi =2 R |
 The perime ler & 251 m .

29| |
5[ |

—

TR e e e e e S T RS

Lesson 1: Reason concretely and pictorially using place value understanding to
relate adjacent base ten units from millions to thousandths
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relate adjacent base ten units from millions to thousandths

£
&
°
—~
unlabeled hundreds through hundredths place value chart
EUREKA ‘ Lesson 1: Reason concretely and pictorially using place value understanding to

MATH
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1 i 1
1,000,0! = Saih =
000,000 | 100,000 10,000 1,000 100 10 1 T T e
Millions Huncred e Thousands | Hundreds Tens Ones Tenths Hundredths | Thousandths
Thousands | Thousands

millions through thousandths place value chart

EUREKA
MATH

Lesson 1:

Reason concretely and pictorially using place value understanding to
relate adjacent base ten units from millions to thousandths
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5e1

Name Date

1. Solve.

s R s . e U5

b sapmastos 2 D HAOO f 13+1000= 0.0(3
& e Doofw & 212x1000- 2,120
G BT s MO0,

2. Find the products.

a. 19,340x10 *= lqal q’OO

b. 19,340x100 = \ !%Us,ooo
c. 19,340x1,ooo=]01/€)q0,, (00 =

d. Explain how you decided on the number of zeros in the products for (a), (b), and (c).

The numleer of zevos of the
fad?@r [0, (60, o1 1002 15 e
wlaer o ot 2@»0& T add t°

The C)‘{W{C(C:Of =

Lesson 2: Reason abstractly using place value understanding to relate adjacent
base ten units from millions to thousandths.

EUREKA
MATH
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3. Find the quotients.

a. 152:10= \95 A
b. 152+100= l‘ 5 2

c. 152+1,000= O v \ 5 9\

d. Explain how you decided where to place the decimal in the quotients for (a), (b), and (c). r
The wumdoer of zeroeS of ithe f;u\/LSc(
10, WO, ov 002 15 tHha number of {JLaCeS
T move the decimel to the rrqbnt

4. Janice thinks that 20 hundredths is equivalent to 2 thousandths because 20
~ thousands. Use words and a place value chart to correct Janice’s error.

undredsis equalto2

6. 20 H# 6.002
9\)060 = Zpoo.

5. Canada hasa population that is about % as large as the United States. If Canada’s population is about 32

million, about how many people live in the United States? Explain the number of zeros in your answer.

3,000,000 X 10 = 326,000,600
There are 3;2—0/{130/000

Thre @ T 2e108 ecause T cdded/
one. e Zeio  when 1 mu”ﬁigf{%» j}ﬂ)_)o

EUREKA
MATH

© 2014 Common Core, Inc. All rights reserved. commoncore.org

Lesson 2: Reason abstractly using place value understanding to relate adjacent
base ten units from millions to thousandths.
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B et Hamevoe IR

Name Date
1. Solve.
a. 36,000x10= ;5('203 0bo e. 24x100=_R2H0O
b. 36,000+ 10 = 3) boo f. 24+1,000= 0.024

c. 43x10= 4\3 g. 4.54x1,000 =4 (SL{O
d 43+10= an 3 3,045.4 +100 = ,30 < L'\ 9 L(

~ 2. Find the products.

a. 14,560%10 = \ﬁf),(a(ﬂ}
b. 14,560 x 100 =| i Qﬁéa o6

c. 14,560 1,000=H 96L0 : Q06
Explain how you decided on the number of zeros in the products for (a), (b), and (c).
When T muttplied by 1o, T added one zere.
T odded tuo zerces

=

When 2 val P\ied (oj l6o

When T multiplied by 00, 18 addcdzgfg;a

EUREKA ‘ Lesson 2: Reason abstractly using place value understanding to relate adjacent

MATH.. base ten units from millions to thousandths.
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3. Find the quotients.

a. 165+10 = D‘ 1696
b. 1.65+100i= O ’ O ‘ (05

c. Explain how you decided where to place the decimal in the quotients for (a) and (b).

I O\) 1 vmwcci the decinral de‘b one \7‘066

Yo )Y\M; \ff‘t

)I moved the dzcm»al pmﬂ"{' +wo
KWC’S to. te left

d says that 3 tenths multvphed by 100 equals 300 thousandths. Is he correct? Use a place value chart
to explain your answer.

Do % oo =30

5. Alaska has a land area of about 1,700,000 square kilometers. Florida has a land area 1—10 the size of Alaska.
What is the land area of Florida? Explain how you found your answer.

\, 700,000+ 10 = !70)@00
OO0 =9gueu€
T(M avec 0{' Florido 15 te, sg cm«mdf)vs

I cbu/(dﬁdz the arca 6’\‘ AlasKa

0 1o c el e area of Flonda
EU“ Lesson 2: eason abstractly using place value understanding to relate adjacent

base ten units from millions to thousandths.

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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Name Date

1. Write the following in exponential form (e.g., 100 = 10%).

a. 10,000 = lOH d. 100 x 100 = lg;*
b. 1,000=__ | O 5 e. 1,000,000 = loé

: 2- : &
¢. 10x10=_ O £ 1,000x1,000=_ 1O

2. Write the following in standard form (e.g., 5 x 10° = 500).

&

a. 9x10°= ‘0'1000 e. 4.025x10°= Aj,QjZﬁ)OOC)
b. 39x10°= 39]0,@(’)0 f. 40.25x10°= §Q7\2506
e 7200:100=__| LT g 725+ 10°= OTa5

d. 7,200,000+ 10° =_j7|_2@() - h. 7.2 +107= 0.072

3. Think about the answers to Problem 2(a—d). Explain the pattern used to find an answer when you
multiply or divide a whole number by a power of 10.

When mulfiplying oniya%Mg by o PTwerof(o,
ve the decimal poinT ad many places as
ol Sxenent Sodicates 1. the vt or o the lef

4, ers to Problem 2(e—h). Explain the pattern used to pl e decimal in the answer
when you multiply or divide a decimal by a power of 10.
" = S e O e T R e N S T A e e i e G S T e NS S LB T
EU“KA Lesson 3: Use exponents to name place value units, and explain patterns in the

placement of the decimal point

© 2014 Common Core, Inc. Al rights reserved. commoncore.org
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5. Complete the patterns.

a. 003 03 3 30 20 0O 3, 00 °

b. 6,500,000 65,000 (g 5 O 6.5 0-065
¢ 94 300 9,430 a 4 2 943  9.43 0.9 33

d. 998 9990 99,900 _ A9 ,000 9,990,000 99,900,000
e. _OnlS 75 750 75000 190,000 7,900,000

f. Explain how you found the unknown numbers in set (b). Be sure to include your redsoning about the
number of zeros in your numbers and how you placed the decimal.

I eliminated two zetees an the fivgt one . I the
ecovxat one 1T woved the decwnal Pmﬂt Two pleees

Ex\' %ow soufound the unknown numbers in set (d). Be sure to include your reasoning about the
number of zeros in your numbers and how you placed the decimal. &

T odded 6ve zero eadn ‘hwwe T movwed the duwm\
yclnt to the t’\th once c’a&/l» "‘WV‘C‘

6. Shaunnie and Marlon missed the lesson on exponents. Shaunnie incorrectly wrote 10° = 50 on her paper,
and Marlon incorrectly wrote 2.5 x 10>= 2.500 on his paper.
a. What mistake has Shaunnie made? Explain using words, numbers, or pictures why her thinking is
incorrect and what she needs to do to correct her answer.

Y
Shaunnie 16 confusmeg tne powey o{ S withv

muliiplying by 5. (55 150000 . [loxs - 50

b. What mistake has Marlon made? Explain using words, numbers, or pictures why his thinking is
incorrect and what he needs to do to correct his answer.

Marlow addecl two zetoes but did d wot
move the decivial pont two places

(9 5xm

VM A A B R SRS Wy S e
EU“KA Lesson 3: Use exponents to name place value units, and explain patterns in the

placement of the decimal point
MATH 14
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Name Date

1. Write the following in exponential form (e.g., 100 = 10%).

) 2
a. 1000=_|O d. 100x10=_|O
2z [
b. 10x10=_|O e. 1,000000=_ 10
G
c. 100000=_ 1O f. 10,000 10 = \O'S

2. Write the following in standard form (e.g., 4 x 10>= 400).
a. 4x10°= H ZOOO . e. 6.072x10°= Q;,Ql?—o
b. 64x10*= QL{‘Z}OO O, f 6072x10°=_O(,200.

o Bt LI« | S 948:+103= 0:94%
d. 5,300,000+1o3=5¢300. : h. 9.4+10°= 0‘001((

3. Complete the patterns.

a 002 02 A 20 A0 O A 000

b. 3400000 34000 _ 340 34 _0.03Y4

: &;lQO 8570 _ 3971 “ss7 as7 0.35 1

d. 444 4440 asg00 HH "{5000 44,4450 44, Hoo, 000
e. O.OA6 95 950 95,000 @76_0_3@0 QEDQOO’OOO

o

& sz o = et

EUREKA Lesson 3: Use exponents to name place value units, and explain patterns in the
placement of the decimal point

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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4, After a lesson on exponents, Tia went home and said to her mom, “I learned that 10* is the same as
40,000.” She has made a mistake in her thinking. Use words, numbers, or a place value chart to help Tia
correct her mistake.

lo* = |opo O
Tia \:o\fﬂot that the pouser of U means
1o addh Y zerwes to the one. She

wed the & as a facfor as well.

5. Solve 247 + 10%and 247 x 10% ,Q L’7)( l01= 94;’006
2475 10°= 247

a. What is different about the two answers? Use words, numbers, or pictures to explain how the digits
shift.
AHETH Sorm
7o X6
Wil | =% vo?

P

R S O 5

b. Based on the answers from the pair of expressions above, solve 247 + 10° and 247 x 10,

241X 10> = 247,000,
PRN R QA

EUR!KA ‘ Lesson 3: Use exponents to name place value units, and explain patterns in the

MATH- ; placement of the decimal point

© 2014 Common Core, Inc. All rights reserved. commoncore.org



10

10 x

powers of 10 chart

EU“KA ’ Lesson 3:
MATH

© 2014 Common Core, Inc. Al rights reserved. commoncore.org

Use exponents to name place value units; and explain patterns in the
placement of the decimal point
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Name

~ Lesson4Problem set [EIF:

Date

1. Convert and write an equation with an exponent. Use your meter strip when it helps you.

2.

a.

Convert using an equation with an exponent.

a.

EUREKA
MATH

2)

3 meters to centimeters 3m=300cm

105 centimeters to meters 105cm = L05m

1.68 meters to centimeters |. Q 8 m = Q cm
80 cm = O ¢ % m
Ao A m=920 cm

D

80 centimeters to meters

9.2 meters to centimeters

4 centimeters to meters

3 x 10° = 300

105 = [6%< 1,66

/uég X /Oz‘ /ége

SO =10 = D8

9.5 X [0* =930.

Youto jo2 < Os04

In the space below, list the letters of the problems where larger units are converted to smaller units.

&) e)

3 meters to millimeters 3 m= // 000 mm
1.2 meters to millimeters / A m= /9 200 mm
1,020 millimeters to meters //020 mm = /' 0 2 m

7"0?5) m=7( Z&Omm
0,y

97 millimeters to meters

7.28 meters to millimeters

4 millimeters to meters

Use your meter strip when it helps you.

2% |62 = 3,606
L2 x )% =, 200
Lozo= | = ].62
973 10°=0.097
1.28% ||od = 7,236
Tx

In the space below, list the letters of the problems where smaller units are converted to larger units.

d)

¢)

Lesson 4:
conversions.

© 2014 Common Core, Inc. All rights reserved. commoncore.org

f)

Use exponents to denote powers of 10 with application to metric

16 = p-00Y
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3. Read each aloud as you write the equivalent measures. Write an equation with an exponent you might
use to convert.

4. 3512im= 555’2\0 mm 31512 x10%=3;512

b. 8cm= s G — [(32: 002

. 2mm=  DLOHRA’ m t2= (O3 0.4

d. 0.05m= SO 0:6'S X l(33=' H@

e. 002m= 0o R em D-00A X \02: D

iy

4. The length of the bar for a high jump competition must always be 4.75 m. Express this measurement in
millimeters. Explain your thinking. Include an equation with an exponent in your explanation.

£.75m = Y150 mmv
U. 7o X \&@ = 4,150
j—W’t{AH’( \ 415 !93 7] ‘;OOO o

5. Ahoney bee’s length measures 1 cm. Express this measurement in meters.g(plain your thinking.
Include an equation with an exponent in your explanation.

e = O‘O\W‘J
R ik

oo d,{vio\zo(. \cm by o te 3eJC meters

" 6. Explain w'hy converting from meters to centimeters uses a different exponent than converting from
meters to millimeters.

A weter has (oo centimeters )cmoL |
it hes \poo willi metes. So, togel
cenbimelers one wuses lo* /,amatio

QOV\V@Tt To Wﬂulm C‘_‘Clj , OVI€ UgeS 103

e e e e R e e s e R R B T R

Eu REKA ‘ Lesson 4: Use exponents to denote powers of 10 with application to metric

MATH.. conversions.

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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Name Date

1. Convert and write an equation with an exponent. Use your meter strip when it helps you.

a. 2 meters to centimeters 2m =200 cm 2 x 10%* = 200

b. 108 centimeterstometerss -108em=10% m 01 6= .08

C. 2.49 meters to centimeters A jﬂ m= M cm 249 X /0 A= AY 4
d. 50 centimeters to meters Sgcm =0_-i m 5 e / o 2= 0 € 5
o et tottimeters - G000 e i &3 X./ g — &30
f. 7 centimeters to meters Lcm =0_\Q'Zm 7 o [O = O OT

g. Inthe space below, list the letters of the problems where smaller units are converted to larger units.

E) e o

2. Convert using an equation with an exponent. Use your meter strip when it helps you.

a. 4 meters to millimeters L( m= 4’(1)0 mm §/X /Oj " SfQQ o

b. 1.7 meters to millimeters J_Q-? m = ’) ?00 mm /‘?X /éﬁ 5 //700 .

c. 1,050 millimeters to meters /gﬁ‘ 50 mm =/ U m [[ 090 :: /Ob-: /'05

d. 65 millimeters to meters é(ﬁ mm:O.(%.Sm é5 —:_ /03: 000@5

e. 4.92 meters to millimeters l’}'qz m= %qzomm ‘7’-° ?2 )( /0;: %q‘QO

: B o
f. 3 millimeters to meters 3 mm =0'005 m 5 b /0 = O- Oéj

g. Inthe space below, list the letters of the problems where larger units are converted to smaller units.

a) b) e)

EUREKA Lesson 4: Use exponents to denote powers of 10 with application to metric
conversions.

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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work [EZF

3. Read each aloud as you write the equivalent measures. Write an equation with an exponent you might
use to convert.

a. 2.638m = 2 ) 65 8 mm 2.638 x 10° = 2,638

b. 7cm L 7"'7 6%z 0.07
L i 39 = 1% = 0.629
d. 0.08m ol o o 0-08 )(/03 = 80

e. 00sm  =_0¢5 0-005 X/Oz': 0.9

&

4. YiTing’s height is 1.49 m. Express this measurement in millimeters. Explain your thinking. Include an
equation with an exponent in your explanation.

[-49m = 149 crv
) 89 X 16%= 149 i

/me has 100 C&Vlill/f’léff/’.s , 50 1 uane /}/’pjj
b‘z a 60 or :

5. Aladybug’s length measures 2 cm. Ex(ress this measurement in meters. Explain your thinking. Include

an equation with an exponent in your explanation.
T dovide ‘93 00 or 107,

= 0.02 mv
2wy I meter has Joo ntled

oAl L APl
J .10 0 C/e;c/]&b\mc‘rerﬁ ISSO/lDO

'(:)mgtdmd&/&r tun L meler

6. The length of a sticky note measures 77 millimeters. Express this length in meters. Explain your thinking.
Include an equation with an exponent in your explanation.

FFmmur = 0037 v A meler has 1000

5 e l, v Ta Cth&V

by lpoo or o8 &

EUREKA Lesson 4: Use exponents to denote powers of 10 with application to metric
o conversions.
MATH 22
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Name Date

1. Express as decimal numerals. The first one is done for you.

a. Four thousandths 0.004

b. Twenty-four thousandths O,OQC{

c. Oneand three hundred twenty-four thousandths | =15 2‘{

d. Six hundred eight thousandths O S é O C}

e. Six hundred and eight thousandths wO B o g
F o 0-o04p
T 2.040
h. 20022 203 -G-0-4

2. Express each of the following values in words.

a. 0.005 7: 1Ye tl/ZO US4 V?d-s :
b. 11.037 Eleven aqnd 7‘/0/}71  Seven ﬂlobdﬁhd Z%Sf

’ 4
¢ wses  Tprar buw].#aﬂ thiee and SilxX hundred

3. Write the number on a place value chart. Then, write it in expanded form using fractions or decimals to

express the decimal place value units. The first one is done for you.
a. 35.827

Tens Ones Tenths Hundredths Thousandths
3 5 @ 8 2 7

35.827=3x10+5x1+8x(%)+2x(%)+7x(ﬁ) or

=3X10+5x1+8x0.1+2x0.01+7X0.001

EUREKA | Lesson5: Name decimal fractions in expanded, unit, and word forms by

MATH- ‘ applying place value reasoning. 25
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o RN S s el Y

b. 0.249

Coyl 2.0 4 14l
ox 14 axf )t 4x(by + 60
o x |+ Axb-|1+ 4x0.6] + Ax 0.00(

c. 57.281 ‘ 5 l"{ ® ;:{8 l
YA I 8 B (‘}o>+g‘(’356>*"é€w>

Exl6+ Ix | + axo\ ¥ gX0-0l+4 o)

4. Write a decimal for each of the following. Use a place value chart to help, if necessary.

a. 7x1o+4x1+6X(;15)+9x(ﬁ)+2x(ﬁ)

‘ n “ 6-002.
b. .xolot;ta;xﬂ —-FO (o +0 Oq ‘t—

+8x0.1+9x0.001

§o@it30 B EoY + 7-009
c. 4x1,000+2x100+7"1+3"(%o)+4" 101—00)

400 t2p0 +7 £ 0-02 + 0.00Y

5. Mr. Pham wrote 2.619 on the board. Christy says it is two and six hundred nineteen thousandths. Amy
says it is 2 ones 6 tenths 1 hundredth 9 thousandths. Who is right? Use words and numbers to explain
your answer.

2.614
Twe ldnde SIX hundred rveleen YeouSandths

7 enes & tenths | wundredth 4 Yo ucandth
C\nrisﬁl\/ amd AW\y are both H\jh‘f" C\nrirlﬂj
'S yeading l't) Amy s J(,t”img He value. 5

EUR!KA ’ Lesson 5: Name decimal fractions in expanded, unit, and word forms by (@) E‘ 6Q C vL d{{g {T’
MATH 26
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Name Date

1. Express as decimal numerals. The first one is done for you.

a. Five thousandths 0.005

b. Thirty-five thousandths ) O o . 3 6

c'. Nine and two hundred thirty-five thousandths 0' y 2 5 6
d: Eight hundred and five thousandths 300 y OO 5

8

® o0 fusH 0 G

28

" Tow O.O0X3

8 713020_80 7o 63

2

502

h. 300—= 300 : 6 ) g

2. Express each of the following values in words.

a. 0.008 E‘lc’?\h't T\(ID\AQC( V“CLHLS

b. 15.062 F(%‘Cﬂ/b oud 51\,{}{/‘%0 T\/LAMSOMAW

/
¢. 607.408_F | X\ huWiYm{ celen aind. :En.& Y

i
E/’:U J «&!.,?ec

A e

*hougakuﬂllu

3. Write the number on a place value chart. Then, write it in expanded form using fractions or decimals to

express the decimal place value units. The first one is done for you.

a. 27.346
Tens Ones ® Tenths Hundredths Thousandths
2 7 3 4 6
27.346=2 x 10+7x1+3x(1i°)+4x(ﬁ)+6x ﬁ) or

27.346=2%X10+7 X 1+3x0.1+4Xx0.01+6 X 0.001

T Vo R S i e Pt e 3 3 Tt S S R Sy S Vi PR e
EUREKA | Lesson 5: Name decimal fractions in expanded, unit, and word forms by

MATH- ] applying place value reasoning.
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5e1

b. 0.362 O‘(a ®l2

3x(})t 6 X(1) t PR

»c. 49,564 ‘& 0\.\ 5 \ \q ‘
by |o + X+ 5X(5 5 )+ QX(’\LQO%L 4"(?550
d4xlo + K| + 8x01 4+ x6.0\ + ¢X0.00\-

4. Write a decimal for each of the following. Use a place value chart to help, if necessary.

a. 3X10+5x1+2x (= +7><(1 )+5X(1oloo)

30+ 5462 +0:67+0-60L

b. 9X100+2 X 10+3x0.1+7 X 0.001 N

Ao +20+8.3 + 0-06F

c. 5x1000+4><100+8x1+6><(i)+5 (10100)
Seout Yoo + 8+ e + 6085

5. At the beginning of a lesson, a piece of chalk is 4.875 inches long. At the end of the lesson, it is 3.125
inches long. Write the two amounts in expanded form using fractions.

a. At the beginning of the lesson: ‘-{- g75
Uyt 4 ¢ x (L)+ #x(h) +oxGom

b. At the end of the lesson:

3« 125
s et LG R E B \oo) *5’(\006)

6. Mrs. Herman asked the class to write an expanded form for 412.638. Nancy wrote the expanded form
using fractions, and Charles wrote the expanded form using decimals. Write their responses. )

kx too 4 1 * 1o + 2% (oXL >+ 3 (\oo ‘Lg%C“U

4% o +\ e, ARy = @xgb\ +5><oo( +2xo 06|

EUR!KA ’ Lesson 5: Name decimal fractions in expanded, unit, and word forms by

M AT".. applying place value reasoning. 28
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Thousandths

Hundredths

Tenths

Ones

“Tens

Hundreds

Thousands

thousands through thousandths place value chart

EUREKA Lesson 5: Name decimal fractions in expanded, unit, and word forms by

MATH- applying place value reasoning.
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i. 202 hundredths Q 09\

j- One hundred fifty-eight
thousandths {3 l(;)%

k. 4.15

2 hundreds and 2 thousandths 2@0_ CC);Z

158,000

DD

415 tenths 4.5

3. Arrange the numbers in increasing order.
a. 3.049 3.059 3.05 3.04
5.0‘—1 /0\ 3.0%;505/)5.05@

b. 182.205 182.05 182.105 182.025

[82.035 ., 133.05,182.(05, [ 82295

4. Arrange the numbers in decreasing order.

a. /.608- 768 7.6 7.068

1.69, 7.¢08 7.¢, 7.068

b. 439.216 439.126 439.612 439.261

439.Ll2 5 439-2C1, H39.RiC, t/39.12¢L

EUREKA i Lesson 6: Compare decimal fractions to the thousandths using like units, and

avnrace rommnariennc wnth 8 ¢ =



Name Date

1. Show the numbers on the place value chart using digits. Use >, <, or = to compare. Explain your thinking
in the space to the right.

34.223 @ 34.232

RIS
o
N
N

e

2. Use >, <, or =to compare the following. Use a place value chart to help, if necessary.

a. 16.3 @ 16.4

b. 0.83 @ = 6.83
¢ == G 05 @ 0.205

d. 95.580 @ 95.58

e. 91 @ 9.099

fo==8'3 @ 83 tenths 2 :’%
g.. 5.8 Fifty-eight hundredths 058
h. Thirty-six and nine thousandths 4 tens /_?/ O

~ 5, 00 7,

EUREKA ; Lesson 6: Compare decimal fractions to the thousandths using like units, and

b o e 23 o 2 o e D e M R s g



3. Arrange the numbers in decreasing order.

a. 8508 858 7.5 7.058

264 ¢.950% 15 T05¢

b. 439.216 439.126 439.612 439.261

H29.0l20  #39.261 434216  439.126

4. James measured his hand. It was 0.17 meter. Jennifer measured her hand. It was 0.165 meter. Whose
hand is bigger? How do you know?

Jomes ©0,\7 B huméu\eoiﬂ&s i @iﬂ%
Jevn(seC 0-169 Hnav\.(“@\) Jﬁ/u)U\SaV\aLH/\& (03
'“/Lootxu/wl/bhg

Tame's hand s bmer‘.

5. Ina paper airplane contest, Marcel’s plane travels 3.345 meters. Salvador’s plane travels 3.35 meters.
Jennifer’s plane travels 3.3 meters. Based on the measurements, whose plane traveled the farthest
distance? Whose plane traveled the shortest distance? Explain your reasoning using a place value chart.

Moarcel 3349
Sa\-\mdo*( 3435

T@M\ - 33

S aWador's New Hhe /FCL(‘U/LZSJ[ ands Jevmnler's
Plew the Shovlesls

T B e R SR

EU“KA ’ Lesson 6: Compare decimal fractions to the thousandths using like units, and
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A STORY OF UNITS

Name Date

1. Use >, <, or =to compare the following.

a. 16.45 16.454
83
b. 0.83 100
205
o 0.205
d. 95.045 95.545
e. 419.10 419.099

f. Five ones and eight tenths Fifty-eight tenths

5‘ 8 é
g. Thirty-six and ningz thousandths Four tens L.\
3(..009

h. One hundred four and twelve @0 Ruhsdredsioyrandingg

hilhdiodths thousandths 2

[04. 1~ 00 00 o

i.  One hundred fifty-eight 0.58

thousandths[)-\(a Cg
i, 703.005 Seven hundred three and five

OOV DOOOOD

hundredths 705 = 09

2. Arrange the numbers in increasing order.

a. 808 8081 809 8.008

3.008 %.0% 3.6% | 3. 09

b. 14.204 14200 14.240 14.210

W.a00 14, 208 4. Rjo 14,260

EUREKA ' Lesson 6: Compare decimal fractions to the thousandths using like units, and



5. Lance measured 0.485 liter of water. Angel measured 0.5 liter of water. Lance said, “My beaker has
more water than yours because my number has three decimal places and yours only has one.” s Lance
correct? Use words and numbers to explain your answer.

Jamee. O- 495 ;

a%?d@fﬁ

lance (5 wromg - 7he s by of ciéclmﬂflf

¢

does neol fudiate Yal o number S
b‘jj&/ or JWM!/E.’/’ Lhan o Z%a’ln

9 tenths s /afﬂf/ than -9E5 the usand.

6. Dr. Hong prescribed 0.019 liter more medicine than Dr. Tannenbaum. Dr. Evans prescribed 0.02 less than
Dr. Hong. Who prescribed the most medicine? Who prescribed the least?

m/’bz?:’() o7 In {armoenlravs) y
15&—ij ~ /,7L 2. 0L%)
1/1 5\/’%4/ : ’r

Oe0O 2L J&]f#tﬁ E A

0({& W CwV pr(_gcmé%cé E/N, éast

7N\

= i e s = e

EUREKA | Lesson 6: Compare decimal fractions to the thousandths using like units, and
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N
Name Date
Fill in the table, and then round to the given place. Label the number lines to show your work. Circle the
rounded number.
Tl
a. Hundredths  b. Tenths c. Tens 50 \
_A_ ‘ _A_ 2 ' Tens Ones +Tenths Hundredths | Thousandths
28| O °
1ot 415 05 % o] b
0| & ¢
] =
GO e S
Zoc 3 03
pe e i SRR
2. 115.376 : ¥ ?
a. Hundredths  b. Ones c. Tens ll‘ 6' ‘]) (a :
> A (p Tens Onesj Tenths | Hundredths | Thousandths
= e AN &
L - 4 a2
4z B A e,
ot vt s
T - i
v
|15
S
1H5-39
.’\ »
EUREKA \ Lesson 7: ;(;)und a given decimal to ar;y plac; using place value understanding

and the vertical number line.

MATH
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S

3. 0.994
Tens Ones | Tenths | Hundredths | Thousandths
yeds T O
pwnes |
pomdedd 6 L g L2
a. Hundredths b. Tenths c. Ones

0-9

| .&

-+ 0.5
+ 0
v

R

4. For open international competition, the throwing circle in the men’s shot put must have a diameter of
2.135 meters. Round this number to the nearest hundredth. Use a number line to show your work.

2.135

%' hu.nd r&') th

(&

&)

VD

5. Jen’s pedometer said she walked 2.549 miles. She rounded her distance to 3 miles. Her brother rounded
her distance to 2.5 miles. When they argued about it, their mom said they were both right. Explain how
that could be true. Use number lines and words to explain your reasoning.

JEM. reuanded +o the

HQY’ btcﬂ/\u’
\~wn4&\ 4o Yo tenths.

J&VL ‘Ou(pcl eé _\_A‘Q_ He/f

AN

2.549

aoéqq S P

N

5 o

A is

v

_bwther

A S e S s T S e e

EU“KA ' Lesson 7:
MATH

© 2014 Common Core, Inc. All rights reserved. commoncore.org

Round a given decimal to any place using place value understanding
and the vertical number line.
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Name Date

Fill in the table, and then round to the given place. Label the number lines to show your work. Circle the
rounded number.

1. 43
a. Hundredths b. Tenths c. Ones
_A_‘ _A_ ¥ _A_5 Tens Ones | Tenths | Hundredths | Thousandths

A,0| O

it Lan. e 4 | 6
T *-3 L-\'ll

& T+ G

2. 225.286

a. Hundredths b. Ones c.Tens

Tens Ones iTenths Hundredths | Thousandths

- W S

1 M

5

DERAST K

2
26

T e S e S e T T T e

EURE
MATH 39
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Lesson 7: Round a given decimal to any place using place value understanding .
and the vertical number line.



3. 8.984

Tens Ones | Tenths | Hundredths | Thousandths
2 0
%) qel
& Al
dl B G
a. Hundredths b. Tenths c. Ones d. Tens
4 A = = -%@ A
T_ C% Toa “Fo«
-:_— :‘? ——'5"[-6 ——675 ——0“9
g__:- 3) v A i— % TV- O

4. On a Major League Baseball diamond, the distance from the pitcher’s mound to home plate is 18.386
meters.
a. Round this number to the nearest hundredth of a meter. Use a number line to show your work.

19386 | 8.39 PP

%
b. How many centimeters is it from the pitcher’s mound to home plate?

19-3%m= | ¥3qcunv

Jules reads that 1 pint is equivalent to 0.473 liters. He asks his teacher how many liters there are in a pint.
His teacher responds that there are about 0.47 liters in a pint. He asks his parents, and they say there are
about 0.5 liters in a pint. Jules says they are both correct. How can that be true? Explain your answer.

| pal= 0-U4F3 liters
o dFd = OHT
0.y ©.5

EUREK_A ’ Lesson 7:
MATH

© 2014 Common Core, Inc. All rights reserved. commoncore.org

-

e Yeacher

o it :
&;gj/wa/ﬁ hs. \Daten&’
vound 7 "eﬂlf(’\S -

Round a given decimal to any place using place value understanding
and the vertical number line.

40



Hundredths | Thousandths

Tenths

Ones

Tens

Hundreds

hundreds to thousandths place value chart

5e1

et =

Lesson 7: Round a given decimal to any place using place value understanding
and the vertical number line.
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Name Date

1. Write the decomposition that helps you, and then round to the given place value. Draw number lines to
explain your thinking. Circle the rounded value on each number line.

a. Round 32.697 to the nearest tenth, hundredth, and one.

hundiedth

3 3,09 gite Fenth A A
%j};ﬂ A5
. _ --—31-(9617
3% 2266 132,645
62 <52 o 32 0‘#?

b. Round 141.999 to the nearest tenth, hundredth, ten, and hundred.

\4l-494 Lt handreddi

) -4
14 1. a9

1.5
b 14 1. 99C

l4t.o 141.99

A’/

2. Aroot beer factory produces 132,554 cases in 100 days. About how many cases does the factory produce
in 1 day? Round your answer to the nearest tenth of a case. Show your thinking on the number line.

132,854 = loo = [pRS-54 R25.6

o6 ~ ,5255
\’3 25 61{ : H‘52555
259

i
~

EU“KA Lesson 8: Round a given decimal to any place using place value understanding
T and the vertical number line

© 2014 Common Core, Inc. All rights reserved. commoncore.org.



3. Adecimal number has two digits to the right of its decimal point. If we round it to the nearest tenth, the
result is 13.7. :

a. What is the maximum possible value of this number? Use words and the number line to explain your
reasoning. Include the midpoint on your number line.

>

S PR )

[
o
o

'Hw/ ML \yaSQib(e hut-bwcétf IS \1?‘}

Sds The m‘idPO"‘tt 1$s 13765 . Thuis pe u‘n‘f;
@ would  round wp. Se, 3.7 x5 e

maximuin Psssilole number
Vounds dow ‘fb (3. F

v

b. What is the minimum possible value of this decimal? Use words and the number line to explain your
reasoning. Include the midpoint on your number line.

The punimun Possc‘lole, Va lue would be s
13.7 12065 . This number 1s: the Mid,ﬁoi‘v";‘«
between 3.0 and (3«7

—

0.6

<€

EUREKA ) Lesson 8: Round a given decimal to any place using place value understanding

MATH_ and the vertical number line
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Name

Date

1. Write the decomposition that helps you, and then round to the given place value. Draw number lines to
explain your thinking. Circle the rounded value on each number line

a. 43.586 to the nearest tenth, h

undreﬁ , and one. m
43.58¢C o es s %uweiw.,!

q L yrs9
59 ¢
“" 75,599
'-\3 D 4358
b. 243.875 to nearest tenth, hundredth, ten, and hundred v

. 243.875 ‘W.ow\s tens V‘%@Eh““d

+2u3.° % ﬁ
o e i 243+ ‘3
1355
2850 249 . 8 +243- 319
243 o )
. 1243.8
200 L4 N

o351
N
2. Atrip from New York City to Seattle is 2,852.1 miles. A family wants to make the drive in 10 days, driving

the same number of miles each day. About how many miles will they drive each day? Round you,r
answer to the nearest tenth of a mile
St s = BT
2852

The Jfﬁlm/-/ will dyive 28592 e d.a///

S A S) A e e e e
EUREKA Lesson 8: Round a given decimal to any place using place value understanding
MATH.. and the vertical number line

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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3. Adecimal number has two digits to the right of its decimal point. If we round it to the nearest tenth, the
result is 18.6.

a.

What is the maximum possible value of this number? Use words and the number line to explain your
reasoning. Include the midpoint on your number line.

Tko MUA X | n e essnb?«e Val,ue

—-:18.7(1870hundredths) WO(,L\A be \3-@‘-\ - Bdu)eCW
} 8 \g})\sc%ist\/u
Z""B'"é 1 -Gt Wwahest number oY rounds

C\me to \8:6.

fliges 4 all o g

6 |

<€

What is the minimum possible value of this decimal? Use words, pictures, or numbers to explain your
reasoning.

A..@ The minimum poSS(W v
k5 \& \8:959. This  humbbel S

T e midp ol betweew 185

and- A\g-G., T\x€¥€§0!f€ IS The
185 \CQ,S‘\' V\MWV‘DW( 'H«"@t "OO‘MJ 4 u“?

Yo \8:6.

EUREKA
MATH

Lesson 8: Round a given decimal to any place using place value understanding
and the vertical number line
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Name

Date

1. Solve, and then write the sum in standard form. Use a place value chart if necessary.

a. 1tenth+2tenths= 3

Dol D

b. 14 tenths+9 tenths = 2 a

9\ one(s)

c. 1 hundredth + 2 hundredths =

hundredths = O Ne 3

d. 27 hundredths + 5 hundredths = Z 24 hundredths = _ 3 tenths <A hundredths = 0 S A

e. 1 thousandth + 2 thousandths = 35 thousandths = 0 3 005

f. 35 thousandths + 8 thousandths = ‘t 3 thousandths = 7 hundredths é thousandths = &o 043

g. 6 tenths + 3 thousandths = Q@ thousandths = 0 s QOB

h. 7 ones 2 tenths + 4 tenths = z (4 tenths = 2 - ¢=
i. 2 thousandths +9 ones 5 thousandths = z {22 :2 thousandths = ?‘ oo ?

2. Solve using the standard algorithm.

3 tenth(s) = Z é

a. 03+082=_Jio/ I 2=

O-3
to.22

by

1.03+0.08 = l o ”

/}
> ].©32
& oL

e

c. 7.3+28=__ JO)

]
T2
+g.8"

57.03+2.08=_ LO + 1]

57.03
™ 2468

m——— -a?"_-gqﬂ:‘T-l
1o 5
EU“KA ‘ Lesson 9: Add decimals using place value strategies, and relate those strategies

MATH

© 2014 Common Core, Inc. All rights reserved. commoncore.org

to a written method

47



e. 62573+ 4328=_(L,& . AAON
1)
Gyl s
t 4.328
6 Aol

f. 85.703 +12.197 = Q:Zbﬁ
g5 b3

Fiasl al
——————————
q7.900

3. Van Cortlandt Park’s walking trail is 1.02 km longer than Marine Park. Central Park’s walking trail is 0.242

km longer than Van Cortlandt’s.

a. Fill in the missing information in the chart below.

wfude
T .24

A oSHU2Q

‘ New York City Walking Trails
1.2%
_{_ Central Park 905 q LS km
T Yoo
-—‘—9—:";3"0__' Marine Park 1.28 km
Van Cortlandt Park 2.3 km
Vaw Cort \avw\ 5
tran)
b. If a tourist walked all 3 trails in a day, how many kilometers would he or she have walked?
e R o S
PR

Cg 6}@ Wou‘A h,t?p\/&

(o-l & walked 6-122 Kwv

4. Meyer has 0.64 GB of space remaining on his iPod. He wants to download a pedometer app (0.24 GB), a
photo app (0.403 GB), and a math app (0.3 GB). Which combinations of apps can he download? Explain

your thinking.

P=0, 24 V\&ﬁe// i [dsoplon

Ph=0.1403 Pand M or Phand M.
WCMV\O_(' 0L0wn(0&.a

M :043 M
1Pd <0.04 Uf)

nd Pl becawse
\5 vw‘tovewjh w«ewwry \ﬁH

Y
L(O}

EZE)

T T AT Ty T

to a written method

EUREKA ‘ Lesson 9: Add decimals using place value strategies, and relate those strategies

MATH
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Name Date

1. Solve.

a. 3tenths +4 tenths = 3 tenths
b. 12tenths +9 tenths = 2 , tenths = ‘g one(s) / tenth(s)

c. 3 hundredths + 4 hundredths = 5 Lf hundredths

d. 27 hundredths + 7 hundredths = 3 Ei hundredths = 3 tenths L/ hundredths

e. 4 thousandths + 3 thousandths = ! thousandths

f. 39 thousandths + 5 thousandths = L/ Z thousandths = L} hundredths Q thousandths

g. 5tenths + 7 thousandths = 50 [ thousandths
)

h. 4 ones 4 tenths + 4 tenths = él 8 tenths . 0OY
t¢ 008

i. 8thousandths + 6 ones 8 thousandths = LO& thousandths /m

2. Solve using the standard algorithm.

a. 04+07= I;! b. 2.04+0.07?= ;o ”

DY
O .
+@o‘:" to. o

/T
-—T:’\‘— ’\‘ ,
c. 64+37=__10.1 d. 56.04+3.07=_ 59 {{

!

G‘L[ géuéq
T30
/2_.1'. + 2,67

S 59q-1 |

T Ee WSS e R S S e e N e e e e =

EUR!KA Lesson 9: Add decimals using place value strategies, and relate those strategies
to a written method

© 2014 Common Core, Inc. Al rights reserved. commoncore.org.
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e. 72.564 + 5.137 = fz 7361 f. 75.604+22.296=_& hﬂ

72.56Y4 75.604
5,137 + 2202496

71 1% T978ce

3. Walkway Over the Hudson, a bridge that crosses the Hudson River in Poughkeepsie, is 2.063 kilometers
long. Anping Bridge, which was built in China 850 years ago, is 2.07 kilometers long.

a. What is the total span of both bridges? Show your thinking.

2.06%5 2.065
20T Ta.el
4 % L

The Total span 15 .33 Kin

b. Leah likes to walk her dog e Walkway Over the Hudson. If she walks across and back, how far
will she and her dog walk?

B ot
=

L They will walfh H:-22¢ Frv

4. For his parents’ anniversary, Danny spends $5.87 on a photo. He also buys a balloon for $2.49 and a box of
strawberries for $4.50. How much money does he spend all together?

$ 5-87 L.k
2.49 4 41

Aot
¢ 4050 ____rg._:—-:g"z:

e sperds 31280

he= =1
EUREKA ‘ Lesson 9: Add decimals using place value strategies, and relate those strategies

MATH to a written method
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Name Date

1. Subtract, writing the difference in standard form. You may use a place value chart to solve.
] S
a. 5tenths—2 tenths = 3 tenths = 0.

b. 5 ones 9 thousandths —2 ones = 6 ones Q thousandths = 5 -0 o 07 \

c. 7 hundreds 8 hundredths — 4 hundredths = 7 hundreds Q hundredths = 2 0o. (D L/

d. 37 thousandths — 16 thousandths = GL Z thousandths = 0 e 09\ / Bo O 37

—0+0 | ¢
o8|

o.{ﬁsl

2. Solve using the standard algorithm.

a. 14-07=_(D.F b. 91.49-07=90.79 [ c 19149-1072=/F0. FH

.y __Q/:g/l‘/ 19149
el 0- g

07 W B O

d. 7.148-0.07= 7. e. 60.91-2.856= -O9Y% 7. 36131-2.841= o
Z-07% 5%-00

7.148 ¢e Al Bci.21
= — A-856- = g.g‘{/

e7¢ |5t | Zeg e

S — e

EUREKA Lesson 10: Subtract decimals using place value strategies, and relate those
strategies to a written method

© 2014 Common Core, Inc. All rights reserved. commoncore.org



3. Solve.

a. 10tens—1ten1tenth

[60.
oo

e

b. 3-22tenths

s
2.3
O «%

€.

37 tenths — 1 one 2 tenths

3.0
|2

———

A H

% .09
3.4

/_—-——

4 ca

d. 8ones9hundredths—3.4 | e.

5.622 — 3 hundredths

Golo 2 X
.05
5 .59

[

£

g

——"“"“_"_——"—-‘

2 ones 4 tenths — 0.59

oy
| - B |

4. Mrs. Fan wrote 5 tenths minus 3 hundredths on the board. Michael said the answer is 2 tenths because 5

minus 3 is 2. Is he correct? Explain.

0.5
B0

/—

o .41

Michael
JYCV\‘W\S )

1S wrong

ot the 3 s
wndaed the -

The S are

5. Apen costs $2.09. It costs $0.45 less than a marker. Ken paid for one pen and one marker with a five
dollar bill. Use a tape diagram with calculations to determine his change.

e 4 2. 0%
Minu$1

4209

00
gt

2.09
o. 49

1 % B 5

l;(ooc( {zg 7 ]:' 452

EUREI(_A
MATH
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Subtract decimals using place value strategies, and relate those

strategies to a written method
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Name Date
1. Subtract. You may use a place value chart. .
9.002
a. 9tenths-3tenths = Q tenths -3,
e —
b. 9 ones 2 thousandths —3 ones = Gl ondT S e —thmmsandths '
Hoo .06

C.

d.

4 hundreds 6 hundredths — 3 hundredths = ! hundreds 22 __hundredths SR « Q7
56 thousandths — 23 thousandths = 3?72 thousandths = & hundredths 5 thousandths

2. Solve using the standard algorithm.

a. 1.8-09=_@.9 b. 41.84-09=4p .94 | c 341.84-21.92= 2} G ]

-8 e 241.8¢
o9 __[7%0/?4 e Al.- 9 2

-9 e R AT A

709 ¥

P

d. 5.182-0.09= %J__Qg). e 50416-425=Uf . |Lb| f. 741-391=_T] 32:07

5. 182 500 4l6 741,00

—eaas
5 0Ad e .lee 73T

I S i
EUREKA ‘ Lesson 10: Subtract decimals using place value strategies, and relate those

strategies to a written method

MATH 53
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3. Solve.

a. 30tens-—3tens 3 tenths b. 5-16 teﬁths c. 24 tenths—1 one 3 tenths
_—»30010 5 <O Re L"
30.3 I . T vl T 00
=Y

e 7 =

d. 6ones7hundredths—2.3 | e. 8.246 -5 hundredths f. 5ones 3 tenths —0.53
(p & 0 —? g » 2““ L 5 P 3

2.2 . | tfez. . |0:52

S 17 Bepe o ey

4. Mr. House wrote 8 tenths minus 5 hundredths on the board. Maggie said the answer is 3 hundredths

because 8 minus 5 is 3. Is she correct? Explain.

_——0.?9 % ta—1S mn\)', 2'}&4/%_5
o ;75 minus S ;Luhéérfﬁbﬁffg 5

75 /xmmﬂtwcl‘y’lf

. Aclipboard costs $2.23. It costs $0.58 more than a notebook. Lisa bought two clipboards and one

notebook. She paid with a ten dollar bill. How much change does Lisa get? Use a tape diagram to show
your thinking.

e 3
Cl\‘ \opa\d éa“g‘a ____6281
\A,Jre\?\oa@\?g 4 -/‘4’5/ Pulo D
i ey
0,1023 +q' - - 6.[}
) L’; o < , Lo .ev 5‘g“€l

EUR!KA l Lesson 10: Subtract decimals using place value strategies, and relate those

MATH strategies to a written method
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Name : Date

1. Solve by drawing disks on a place value chart. Write an equation, and express the product in standard

form.
a. 3copies of 2 tenths 2 V b 5 grc:wups of 2 hundredths l
- :
> TS _X‘:O tent hund e ths
o # v =
® 0 O °6
g e

C.

e. 5timesas much as 7 tenths 0. 7 f. 4 thousandths times 3

havdredfhd Thou

® ——

* 2. Draw amodel similar to the one pictured below for Parts (b), (c), and (d). Find the sum of the partial
products to evaluate each expression.

A 7iX3:12 3 ones + 1tenth + 2 hundredths

7 7 X 3 ones 7 X 1 tenth 7 X 2 hundredths

Mol fesais - RREON

425
xe

nynd e dbhS | 15.50

5-50

b. 6x4.25 i 2 tovths ghqm{w&{fﬂ(
2
b L’ oIS l%ﬁm\ S0
|
2d TR 0630 = X
IUREE e iy dcml oy s dt o e e s

understanding, and explain the reasoning used

© 2014 Common Core, Inc. Al rights reserved. commoncore.org

55



5e1

SonBias o AeS Yones G tewthe 9 humeJtﬁi '_‘*25
C. copies of 4. :
FEETEMERT i D e

G e sl S

d. 4timesaS£1uchaszo.075 Q TS T 0 eV\‘HS ﬂ%ﬁé_‘d 5’”@“&#&4’
20.675 \L’—] gro  |4x0 Ax T I 4x5

i

G X A AxZ 1%
—)f-—é—'—fo*;’g;;—o L{- \80 _\,, 6 .\‘ o .0 O-Z% 0002,0

3. Miles incorrectly gave the product of 7 X 2.6 as 14.42. Use a place value chart or an area model to help
Miles understand his mistake.

l.’.
o Lovs  Qones | @terthl

lllé:i \ Lkl =

ety e 0%

4. Mrs. Zamir wants to buy 8 protractors and some erasers for her classroom. She has $30. If protractors
cost $2.65 each, how much will Mrs. Zamir have left to buy erasers?

‘;\3325 $ 30.00
Y B —¢$ 2).20

WW

- Mys Zomiv w\-Vl hove $18.80
r erasers

= s

EUREKA
MATH
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written method through application of the area model and place value

Lesson 11: Multiply a decimal fraction by single-digit whole numbers, relate to a
‘ understanding, and explain the reasoning used

56



Name ' Date

1. Solve by drawing disks on a place value chart. Write an equation, and express the product in standard

form.
a. 2copies ofitent_:; O L(- b. 4 groups of 5 hundredths G s © 9
= /
0-%
c. 4times 7 tenths 0 a'T d. 3times 5 hundredths

ves°”® y}

; o® — o Ry
Rl GENS
e. 9timesas much as 7 tenths Lo} ~" f. 6 thousandths times 8 O+ OOG)

Jevtths [thousoud Yn s

2. Draw a model similar to the one pictured below. Find the sum of the partial products to evaluate each

expression. 2 }
a. 4%X6.79 6 ones + 7 tenths  + 9 hundredths G °7 0‘
- X Y
4 4 X 6 ones 4 x 7tenths | 4 X 9 hundredths 27 A6

g - 7% ndlSe e

Lesson 11: Multiply a decimal fraction by single-digit whole numbers, relate to a

EUREKA . written method through application of the area model and place value
MATH" understanding, and explain the reasoning used

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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’]owés Ll ‘!ev\‘H\s 0\ l’tquPcJ‘HLj

b. 6><749 b m L(’)(&é_‘ :
74% =+ T + 0.5¢4 - 4.9y
<6 ;

e AR
4.1 2
c. 9 copies of 3.65

& 3 ones ¢ Yeths 5 L\/(AVM:J‘(‘“CJ‘LM
_jfg_ff-— K [_91.732 - e | axs

22489 23t 5.4 g o -32.95

d. 3times20.175

gofﬁ'b Aerdhs Oonce  \evding 7 hundred the § thecgndpy
Sa . ame Dye 3@l l2a e |
 TGOTRAS L0 ‘o %03 ¥ 621 + 00\5_

3 Lear%rle multiplied 8 X 4.3 and got 32.24. Is Leanne correct? Use an area model to explain your answer S AS

A 3iA P e
%V: - + 9\."{ :30.[*;175

Leavune S UJ‘/D':S\-

4. Anna buys groceries for her family. Hamburger meat is $3.38 per pound, sweet potatoes are $0.79 each,

and hamburger rolls are $2.30 a bag. If Anna buys 3 pounds of meat, 5 sweet potatoes, and 1 bag of
hamburger rolls, what will she pay in all for the groceries?

* \\> 050
23 "dSO%( W a swo WY
o 32 3\0&@3,3;@5 Y 343
o e 20
$ 0.1t i Tk

Anna will pay $lo 3

Multiply a decimal fraction by single-digit whole numbers, relate to a
written method through applicatiqn of the area model and place value
understanding, and explain the reasoning used

EUREKA
MATH

© 2014 Common Core, Inc. All rights reserved. commoncore.org.

‘ Lesson 11:

58



Name . g Date

1. Choose the reasonable product for each expression. Explain your reasoning in the spaces below using

words, pictures, or numbers.

a. 2.5x; = il

100

b. 3.14% 7 2198 "219.8 21.98
2
a4

P
2\ A%

2.198

c. 8X6.022 4.8176 @.176 ) 481.76

(.022

4817.6

d. 9><5.4; 493.2 @isz ) 4.932
Ly

%9 e
45"

0.4932

Eum Lesson 12: Multiply a decimal fraction by single-digit whole numbers, including
MATH— using estimation to confirm the placement of the decimal point.
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2. Pedro is building a spice rack with 4 shelves that are each 0.55 meter long. At the hardware store, Pedro
finds that he can only buy the shelving in whole meter lengths. Exactly how many meters of shelving
does Pedro need? Since he can only buy whole number lengths, how many meters of shelving should he
buy? Justify your thinking.

& o
0.59
\“u-

b —

..-E = ,l &5

i neels CXQ&\\, “2.20 meters: So ke weeds o 300513 M.

3. Marcel rides his bicycle to school and back on Tuesdays and Thursdays. He lives 3.62 kilometers away
from school. Marcel’s gym teacher wants to know v about how many kilometers he bikes in a week.
Marcel’s math teacher wants to know exactly how many kilometers he bikes in a week. What should
Marcel tell each teacher? Show your work.

Bl A
L

.18
Marze | rides exactly 1098 6m or gbeut 19 Km.

4. The poetry club had its first bake sale, and they made $79.35. The club members are planning to have 4
more bake sales. Leslie said, “If we make the same amount at each bake sale, we'll earn $3,967.50.”
Peggy said, “No way, Leslie! We’ll earn $396.75 after five bake sales.” Use estimation to help Peggy
explain why Leslie’s reasoning is inaccurate. Show your reasoning using words, numbers, or pictures.

i T
=T - eils a1

e R S - T S oI

i R
EU“ Lesson 12: Multiply a decimal fraction by single-digit whole numbers, including
using estimation to confirm the placement of the decimal point.

MATH =
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Name Date

1. Choose the reasonable product for each expression. Explain your thinking in the spaces below using
words, pictures, or numbers.

a. 2.1:%3 0.63 63 630

2.0
o
/"":'é"ez

b. 427 X6 2562 2562 Q 2.562
e (552
de27
¥l i

25 b &

C. 7 X 6.05%‘ 4237.1 423.71 4.2371
B W
&+ 093
R
%Q__é e \
d  9x48 4338 433.8 4338
= ]
4. 82
%4 ‘ g .
/-‘-'*g :
'4 3 93 . ' 18

-

2. YiTing weighs 8.3 kg. Her older brother is 4 times as heavy as Yi Ting. How much does her older brother
weigh in kilograms?

.
b
332

' \I,l TW‘@‘$ b(b"w Weiq\f‘vs 330 ZKoy

Lesson 12: Multiply a decimal fraction by single-digit whole numbers, including
using estimation to confirm the placement of the decimal point.

EUREKA
MATH
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3. Tim s painting his storage shed. He buys 4 gallons of white paint, and 3 gallons of blue paint. Each gallon

of white paint costs $15.72, and each gallon of blue paints is $21.87. How much will Tim spend in all on
paint?

o 1
§F= . dae7 o onit
)(L{ o 7L3

ou gel, . B

Tim will spend (28 44

4. Ribbon is sold at 3 yards for $6.33. Jackie bought 24 yards of ribbon for a project. How much did she

e

pay? L R - W - L
34&3;2 6@033 %»" 3 . (lel
: X8 er B, ARG
: e
~Dissgo et

Jecthie {)am\ b 5?“ &y

EU“KA Lesson 12: Multiply a decimal fraction by single-digit whole numbers, including
using estimation to confirm the placement of the decimal point.
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Name

Date 00 L/

1. Complete the sentences with the correct number of units, and then complete the equation.

a. 4 groups of i tenthsis 1.6.
b. 8groups of Q hundredths is 0.32.

c. 7 groups of , v thousandths is 0.084.

16:4= 4 [7l -6

£ N : © OL/
032:8= Qtﬁi gm
0084:7=_ D012 e

20+5= (291 : ‘,7‘ £ i

d. 5 groups of L tenths is 2.0. 0
‘ 7o 8-
5ig B
= —
2. Complete the number sentence. Express the quotient in units and then in standard form. o
a. 42+7= I‘/ & tenths +7 = Q tenths = 0- Q
b. 264:2= g ones +2 + Ca L/ hundredths + 2
= / ones + 5 9\ hundredths
- Ak
c. 1264+2= \ 9\ 6nes +2+ (P jl hundredths + 2
= (/ ones + 3 A hundredths
Lesson 13: Divide decimals by single-digit whole numbers involving easily
EU“KA } idle:nifiable multiplels using|pllace value understlandin|g and l
MATH" relate to a written 63
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d. 4.26+6= 4 2‘ tenths + 6 + <,2 hundredths + 6
7 denths + | bhusdsedtl
0.7/

e. 4236+6= 42 teunths = ¢ + 5&"1’%(,&4/:4&1!"; &
e R il
: G700

36
3. Find the quotients. Then, use words, numbers, or pictures to describe any relationships you notice /25"
between each pair of problems and quotients.

a. 32:8= 4 32:8= 0,17/
TS 2o i 8

b. 81+9=_L postee= O 0OO9
5l is ©&.08]XMee0

4. Are the quotients below reasonable? Explain %our answers.

0.
a. 56+7=8 /\/0, 7\5.,9
’ S N i A
b. 56:7=08 /o 7\—'2/2 0.08
= ‘

= oo

c. .56+7=0.08 \Lles,’

Lesson 13: Divide decimals by single-digit whole numbers involving easily
EUR! ’ identifiable multiples using place value understanding and
M ATH' relate to a written

© 2014 Common Core, Inc. All ri
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5. 12.48 milliliters of medicine were separated into doses of 4 mL each. How many doses were made?

sl
411248
(2

o)

L
O Ox

There weve 3 desec wade

6. The price of milk in 2013 was around $3.28 a gallon. This was eight times as much as you would have

probably paid for a gallon of milk in the 1950s. What was the cost for a gallon of milk during the 1950s?
Use a tape diagram, and show your calculations.
ot

20(3—% 328 £ 2228

=25

550 — do-4/ % ol

o8
“%
)

The cast of milkwauld be do.gl m 1992

$3-22 =
£ % = vt
RENEEE ?|

'4( ‘l.(’ ¢L// dl'// Oq/ "yI/ l‘/'[ '{{,

Lesson 13: Divide decimals by single-digit whole numbers involving easily
EUREKA identifiable multiples using place value understanding and
MATH' i relate to a written
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Name Date

1. Complete the sentences with the correct number of units, and then complete the equation.

a. 3groups of 5 tenths is 1.5. 15+3= L

b. 6 groups of H hundredths is 0.24. 0.24+6= 0. l_'g
c. 5groups of El thousandths is 0.045. 0.045+5=__ ( 2 - OO\

2. Complete the number sentence. Express the quotient in units and then in standard form.

a. 936+3= Cz ones+3 + 3¢ hundredths +3 , ; ';c’
2 L1

= 3 ones + /2\ hundredths 67

©3
= '! ,l & ;3__
=T
V4,00 =
b. 36.012+3= 3 (o ones:3+ /& thousandths + 3 3 \3.7;____‘:__0_‘1;{2_-
= / 2 ones+__ . L'I[ thousandths %Q‘ :
.12 . 004 ' :'660 &
42
: : ()

c, 355+5= _:55 tenths +5 + 5 hundredths + 5 5‘} .gg

e = LT S U
0.7]

ST R

Lesson 13: Divide decimals by single-digit whole numbers involving easily
EU“KA identifiable multiples using place value understanding and

MATH relate to a written

© 2014 Common Core, Inc. All rights reserved. ‘commoncore.org
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3:

5e1

o 7
d. 3545+5=_ 35 Tenths=h 149 Thousand the 5 5&%5

39

3 ‘tm(t‘“ﬁg + aq thewsand ths T oys

4 o

709 ot

<o

Find the quotients. Then, use words, numbers, or pictures to describe any relationships you notice

between each pair of problems an

d quotients.
21+7= 0-2

el O Md@{{s are The same.

The decimal ’z)&!,ﬂz MVES ené }9/4266«

a. 21+7= &
21 /35
b. 48:8= ¢

0.048 +8 = 0- 006

4. Are the quotients below reasonable? Explain your answers.

a. 054:6=9
&

b. 54:6=0.9
&

Ug is o-o48xteve T he

The dccmwt/ /fﬁff?i MOYES
three places
©+09 No. 9xe=&Y . The ?W/;zn-t

"
@ lus 15 e 007 because e
- d—ﬂlldfﬂd 5 0'54

0.9 ies. 0.9x6= &4

EUREKA
MATH
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/q
c. 54+6=0.09 L ‘55‘(-! QX654
“—  No- ex0.00= 059 ne? 5¢

5. Atoy airplane costs $4.84. It costs 4 times as much as a toy car. What is the cost of the toy car?

Tquirp?amo ot
F;ﬁ—l.ﬂz §.54 A414.34

fo\[ cars - gg

3y

—

/‘%@ywr COSfS $/o7/ —

6. Julian bought 3.9 liters of cranberry juice, and Jay bought 8.74 liters of apple juice. They mixed the two
juices together, and then poured them equally into 2 bottles. How many liters of juice are in each bottle?

cvanboercd 3,9 Vilers A =
apple - 3. 74 Llecs EENESTI

R RSN

itle | beitle L

—
it '3
P s
neach beottle =
Thae-ace - Caak litexs 1 o
@]
Lesson 13: Divide decimals by single-digit whole numbers involving easily
EUREKA 1 identifiable multiples using place value understanding and
MATH' relate to a written 68
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Name

Date

1. Draw place value disks on the place value chart to solve. Show each step using the standard algorithm.

a. 4.236+3=‘_‘LH2‘

Ones l Tenths Hundredths | Thousandths
ek 3@( OL* ( Z‘
#75-7&50 pAA =Y=v)
\
>ddeny r 34.236
R 2
o=
P j o
(o) Cooo o -"'! 7
"""""""""""""""""""" B e o =
o coo © o p _,3
--------------------------------------------------------- ra—— é
(7 CC6 o o oo o
b 1.324=9=
Ones Tea_ntljs Hundredths Thousandths
3 : 0,6=
o o v 9 oo
o el i 95599 ofe-3-7 4
g - Wy l Z
gt
___________________________________________________________ | &
0o600° |poe® |o o '“\2
""""""""" pooo |[ooooO |00 C’_'H
7] 2] (53
O
Divide decimals with a remainder using place value understanding and

EUREKA
MATH'

’ Lesson 14:

relate toa
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2. Solve using the standard algorithm.

a. 078+3= 024 b. 728+4=\-%2 c. 1745+5= 5'4‘?
0.2(9 3.‘*

= (.BA
»l 018 LFZ—:Z—"% 5 _%;.45

e Z
= /32' Z o
18 32 —e
% %5
e

s

6

3. Grayson wrote 1.47 + 7 = 2.1 in her math journal.
Use words, numbers, or pictures to explain why Grayson’s thinking is incorrect.

Os 5 o 2 A J&M}t-
.47 C n misplaced the decoma? |
7(’1”‘ ’\'raiyi,?\nd;& {Z)«j 7 % Ol pst 1o He

‘-:gil cou\d have che c¥ed (03 thHi?:,'j; ng
2 Ix 2<L. Ths give 4e7 net I

4. Mrs. Nguyen used 1.48 meters of netting to make 4 identical mini hockey goals. How much netting did
she use per goal?

Torr  RILRE e
¢ - MLA

et

e Mys Nguyen used (.37 wv per ’
844 = p3t J

"H € 0-

5. Esperanza usually buys avocados for $0.94 apiece. During a sale, she gets 5 avocados for $4.10. How
much money did she save per avocado? Use a tape diagram and show your calculations.

o2 q aweoco e® ,
5)6\%10 /Zigfé\ REIIEIEL D o
400 = o | # ~-1Mmaéo,&o,gg_

4%

=
EUREKA ’ Lesson 14: Di\llide decimals witha;ergainde_r using place value understanding and
MATH relate to a written method.
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5e1

Date

Name
1. Draw place value disks on the place value chart to solve. Show each step using the standard algorithm.

a. 5.241+3=
Thousandths

Ones Tenths g Hundredths
leseo o
\sgﬁ 330'-4”“ 35 . 5 1
o MR 2
____________ ] ‘mﬁf___-____-_-_____,____---__---_--_ e
© 00020 e o© 200 ol
_____________ WO | e (e e q_
- o oo © P PRI~ ] /l
P e e e e DR e /_\,.Q—-
© N §
T
/“'—.o.
b. 5.372:4=
Ones Tenths Hundredths Thousandths \ 5 L\ 3
W\-'I D\Q 4'5.3.72
Nole {lo Him
o
&o? —
o o O Ccooo \ ;Z
i b
=t
ke
L bR
12
- __ﬂ/
(&
o o0 0 0 ©00 600
Divide decimals with a remainder using place value undentanding;n'; e R
71

= RET
Le: 14:
EURTEHK_A g relate to a written method.
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2. Solve using the standard algorithm.

a. 0.64+4=0<) (>

b.

6.45+5=1.29

c. 16.404+6= 7,:-'13?

gt .29 ;(_3_‘_-(:_
o e AR
G 0 ‘

&g\ﬁ\

QJ’
!
(NN
S

3. Mrs. Mayuko paid $40.68 for 3 kg of shrimp. What's the cost of 1 kilogram of shrimp?

12,956 rnm ,
K—— =lO.S
sres [liizl®
2 \Kj:$ 15-59
=
=t
|

S0 . ,
/Ls_'
S Al
4. The total weight of Gﬁeces of butter and a bag of sugar is 3.8 Ib. If the weight of the bag of sugar is 1.4
Ib, what is the weight of each piece&f l:uger? hette . Suad ¥
.3 el2.y [[1.4]=3-8 b
2 .4 o =2.4 \\b
LP\CC& 1S o.t | o

(S‘»Hmy cos s $13.56

 Owe prece of butler w’eij‘hs o.u b

Lesson 14: Divide decimals with a remainderA using place value understanding and
relate to a written method.

EUREKA
MATH
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Name Date

1. Draw place value disks on the place value chart to solve. Show each step in the standard algorithm.

a. 05+2= 0925- '

b. 5.7+4=

o ocoo © © o owoo@

EUREKA l Lesson 15: Divide decimals using place value understanding, including

MATH.. remainders in the smallest unit.
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2. Solve using the standard algorithm.

a. 09+2= b. 9.1+5= cr 19si6= / 5
0-45 " Y82 i
2(0'6% 5|4.! & \,2

e 5 =

o 1 Yy 30

o o ——e
O
e
o
d. 0.98+ =0 2. 5 e. 93+6

‘95 f 91+4=Z ._(5
U loAas bt > t”’“

q.
£ “

B
18 32 It
“Fe 2o ek
Zo 30 20
&% 20 B
— ——— O
o o 20
-——p;—ﬁ
o
3. Six bakers shared 7.5 kilograms of flour equally. How much flour did they each receive?
- G fél o, ) b
—= 5 K legrams each-
A3 They receved 1129 Koty
>6
4.

Mrs. Henderson makes pu%ch by mixing 10.9 liters of apple juice, 0.6 liters of orange juice, and 8 liters of

ginger ale. She pours the mixture equally into 6 large punch bowls. How much punch is in each bowl?
Express your answer in liters.

' 3.25
: N O, ;
Apple Juice 100 Lifers s AT
Ovzwscj"““ 0-6 Liflers 0.6 __\_3_5
L
Guar okt 3. Lites 15 i
30
a3
_Eadn Voow\ hao 3,25 lifers
EMUARTEHKA ’ Lesson 15: ?ei;lri\:?n:eeii:;:ltsh:sg::;l’ll::teuvnailil,m understanding, including

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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Name Date

1. Draw place value disks on the place value chart to solve. Show each step in the standard algorithm.

a. 07+4= 0" (75

!u““ Lesson 15: Divide decimals using place value understanding, including
remainders in the smallest unit.

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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2. Solve using the standard algorithm.

a. 07+2= 35 b. 39+6= 5 9+4=
:1\0:" 36: o
e & ”j}ué 4- !f{
(®) zZ°
/& o — Soeie
e P,?)O | ©
et P ”’"i"oo
d. 092:2= e 94:4= e
ME e o Al 515
2 .ﬂgz ¢ Mgu % %;
2 a4 e
A \2_ o
o 20 S
22 _ 2o
e =
&
__.Q.:‘-f-o
3. Arope8.7 meters long is cut into 5 equal pieces. How long is each piece? C:)
18 5 2[RI 87w
pleces 7
’—7

—20

had 0.3 gallon of apple juice left. How many gallons of apple juice are in each container?

Each pece 1S €T l°"‘f)

4. Yasmine bougﬁf’é’gﬁons of apple juice. After filling up 4 bottles of the same size with apple juice, she

Apple Juice ¢ gallens

betties .
Juwice \eft

EUREI(A
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Divide decimals using place value understanding, including

remainders in the smallest unit.



Name Date

Solve.

1. Mr. Frye distributed $126 equally among his 4 children for their weekly allowance.
a. How much money did each child receive?

. o et
4 "’(2
fz.-%’ = Badh C‘ulCl 5&"{'5 £ 3{*50.
=

b. John, the oldest child, paid his siblings to do his chores. If John pays his allowance equally to his
brother and two sisters, how much money will each of his siblings have received in all?

Il
e CHRRY T
= 2 (o) 108G i 2.5
ols 3l.9elle-5el™ -+ . to.50
"‘Tso | ﬁ"oc
0 -

Eadh sibl i«nﬁ Yeceyed%52.0°

2. Avais 23 cm taller than Olivia, and Olivia is half the height of Lucas. If Lucasis 1.78 m tall, how tall are
Ava and Olivia? Express their heights in centimeters.

. J 2\\1%
Lacas [ T8 m Oling: P
oliviw. V1852 TRt ep
Ava,  Olvia +23cw EAcm T2

A\/a 1

Olma (S chwv‘fau[ ’ é}_

Ma s \2cm Taul

e =SS

EU“KA ’ Lesson 16: Solve word problems using decimal operations.
" MATH

77

© 2014 Common Core, Inc. All rights reserved. commoncore.org



3. Mr. Hower can buy a computer with a down payment of $510 and 8 monthly payments of $35.75. If he
pays cash for the computer, the cost is $699.99. How much money will he save if he pays cash for the
computer instead of paying for it in monthly payments?

79¢ .00
s o 2 |
el - sargs
KR * é
e wts 1.4

B puy me

Mr Hower will save 4aco!

4. Brandon mixed 6.83 Ib of cashews with 3.57 Ib of pistachios. After filling up 6 bags that were the same
size with the mixture, he had 0.35 Ib of nuts .'!eft. What was the weight of gach bag? Use a tape diagram

and show your calculations. c ’ '
: 2 683
GU§\1€‘A)S (ﬂ g5 lbb nga l 3657 "T ‘-:"3:‘5_‘:2—

091

el \o-;fg

}‘oqjs aet
wﬁéﬁ—‘%

"'7_’(()
,3é

Eac\/\ \oafj we(j\m.s L5 lb -’ﬁs
T Ba
= e
EUR!KA ‘ Lesson 16: Solve word problems using decimal operations. 5 -
MATH /:;
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5. The bakery bought 4 bags of flour containing 3.5 kg each. 0.475 kg of flour is needed to make a batch of
muffins, and 0.65 kg is needed to make a loaf of bread.

a. If 4 batches of muffins and 5 loaves of bread are baked, how much flour will be left? Give your
answer in kilograms.

] 2
g PR o
ba‘tok‘so‘& "‘g'f{ g 4.0
muftms X 0,475 $g=- 1A K9 s ¥ 1)
' X Vou
es oS o
l‘sfc\laa{r G X 0063 \<3 =3c_»25 t’ﬁ ___g..:-?g T 20
-
X

Theve pnll be 8-89 Ko of Blouclelt . . 926

b. The remaining flour is stored in bins'that hold 3 kg each. How many bins will be needed to store the
flour? Explain your answer.

TN

_2.95 Each contaer holds
3\ % -85 5 Kf"-(()j(ams, Thevefore
Se 2 conleuine(s bl be
;'gTs full and- on€ wil
5 TR L el

o

3 bins will be needted

EUREKA l Lesson 16: Solve word problems using decimal operations.
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Name Date

Solve using tape diagrams.

1. Agardener installed 42.6 meters of fencing in a week. He installed 13.45 meters on Monday and 9.5
meters on Tuesday. He installed the rest of the fence in equal lengths on Wednesday through Friday.
How many meters of fencing did he install on each of the last three days?

: Monda “d“’fz = 565 \'301"‘5
EEMES 2113 T
T

- - /‘1—5 42‘9(3
22.45 : 15 — 2242
=19.65w e | G090

The aavdener ihshzuedz eo56mv of fence cach day.

2. Jenny charges $9.15 an hour to babysit toddlers and $7.45 an hour to babysit school-aged children.

a. If Jenny babysat toddlers for 9 hours and school-aged children for 6 hours, how much money did she

earnin all? =" "‘ ,$\5
Borel [T-? [FE2sEiel? |

(Rt S ~ %235
Aot a2

=3 K238

2 55
X‘N-t

¢ hoar § ‘ Tz—;,—‘”‘

Jepny eoed §127:66 i al
b. Jénny wants to earn $1,300 by the end of the summer. How much more will she need to earn to
meet her goal?

|20 ©0.60Q
2 BTNy

- \\7gﬁ5‘

_Senny peeds 1o cagn § 172.95

EUREKA ’ Lesson 16: Solve word problems using decimal operations.
- MATH
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3. Atable and 8 chairs weigh 235.68 Ib together. If the table weighs 157.84 |b, what is the weight of one

chair in pounds? 2 35 52
N ; .
7 C\ t 7.4 =2235.L8 \G % &Y

£ ’an

il A .
ottt -7 e
72
T 58
Owne Chair we-(ﬁ\& .73 b -"‘s/g:(

—_

4. Mrs. Cleaver mixes 1.24 liters of red paint with 3 times as much blue paint to make purple paint. 'She
pours the paint equally into 5 containers. How much blue paint is in each container? Give your answer in
liters. : |

— ved £ |. 24
i . R

Beniis g . 572
weé

[ V[t ]= 2- 7% B

3 Py -
i
e
22
=
. e
A €rS 20
There are osTud liter 1 ==
of llue Pa\nt in eoc
covitaineyr

EUREKA Lesson 16: Solve word problems using decimal operations.
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3. 0.994

Tens

Ones 1 Tenths

Hundredths | Thousandths

o]

a. Hundredths

A
16

-
)

L

0-9

b. Tenths

=T

$ 7

v
.6

+o0
v

|.O

e

-

4. For open international competition, the throwing circle in the men’s shot put must have a diameter of
2.135 meters. Round this number to the nearest hundredth. Use a number line to show your work.

2.135

It’ huwnd red Hin

4

5

v

e

5. Jen’s pedometer said she walked 2.549 miles. She rounded her distance to 3 miles. Her brother rounded
her distance to 2.5 miles. When they argued about it, their mom said they were both right. Explain how
that could be true. Use number lines and words to explain your reasoning.

J'ew reunded +o the

2.549
aogq Q

e D

T

MATH

© 2014 Common Core, Inc. All rights reserved. commoncore.org

N\

N
i, SN o

S - S
T “

oves - Me

y brother

vounded 4o Yo ‘ren.\%LS.
Jen rounded up - e r

ouinded dowiwn,

Round a given decimal to any place using place value understanding
and the vertical number line.

~



5e1

Name Date

Fill in the table, and then round to the given place. Label the number lines to show your work. Circle the
rounded number.

1. 43
a. Hundredths b. Tenths c. Ones
_A_‘ _A_ ¥ _A_5 Tens Ones | Tenths | Hundredths | Thousandths

e BN - S LN
+ - 2 i v

¥

T3 L‘\ ¢

@ 32 évv::'®

2. 225.286

a. Hundredths b. Ones c.Tens

Tens Ones ATenths Hundredths | Thousandths

== - +22 als | 2] 9
o A0

-1 —t—t A 2) O

-V-S "v_z

A T

P

A St T S
EUREKA Lesson 7: Round a given decimal to any place using place value understanding
and the vertical number line.
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ASTORYOFUNITS

3. 8984 Tens Ones | Tenths | Hundredths | Thousandths
2 " g i ol O
%) L,
& sl
dl @) O
a. Hundredths b. Tenths c. Ones d. Tens
A A
— =) _A@ ==
1% C Gt Q—:-g

+4 & B ==

@ i— a T° -L— o

On a Major League Baseball diamond, the distance from the pitcher’s mound to home plate is 18.386
meters.

a. Round this number to the nearest hundredth of a meter. Use a number line to show your work.

19326 |8 .29 e

%

b. How many centimeters is it from the pitcher’s mound to home plate?
19:39%= |83qcwnv

5. Jules reads that 1 pint is equivalent to 0.473 liters. He asks his teacher how many liters there are in a pint.
His teacher responds that there are about 0.47 liters in a pint. He asks his parents, and they say there are
about 0.5 liters in a pint. Jules says they are both correct. How can that be true? Explain your answer.

\_‘)\V\/t:'« O“Q?S [a‘fﬁﬁS
oFd = O«4T
0,1’)3 Ong

EUREKA l Lesson 7: Round a given decimal to any place using place value understanding

MATH-— and the vertical number line.
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Hundredths | Thousandths

Tenths

Ones

Tens

Hundreds

hundreds to thousandths place value chart

5e1

et =

Lesson 7: Round a given decimal to any place using place value understanding
and the vertical number line.
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Name Date

1. Write the decomposition that helps you, and then round to the given place value. Draw number lines to
explain your thinking. Circle the rounded value on each number line.

a. Round 32.697 to the nearest tenth, hundredth, and one.

hundiedth

3 3,09 gite Fenth A A
%j};ﬂ A5
. _ --—31-(9617
3% 2266 132,645
62 <52 o 32 0‘#?

b. Round 141.999 to the nearest tenth, hundredth, ten, and hundred.

\4l-494 Lt handreddi

) -4
14 1. a9

1.5
b 14 1. 99C

l4t.o 141.99

A’/

2. Aroot beer factory produces 132,554 cases in 100 days. About how many cases does the factory produce
in 1 day? Round your answer to the nearest tenth of a case. Show your thinking on the number line.

132,854 = loo = [pRS-54 R25.6

o6 ~ ,5255
\’3 25 61{ : H‘52555
259

i
~

EU“KA Lesson 8: Round a given decimal to any place using place value understanding
T and the vertical number line
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3. Adecimal number has two digits to the right of its decimal point. If we round it to the nearest tenth, the
result is 13.7. :

a. What is the maximum possible value of this number? Use words and the number line to explain your
reasoning. Include the midpoint on your number line.

>

S PR )

[
o
o

'Hw/ ML \yaSQib(e hut-bwcétf IS \1?‘}

Sds The m‘idPO"‘tt 1$s 13765 . Thuis pe u‘n‘f;
@ would  round wp. Se, 3.7 x5 e

maximuin Psssilole number
Vounds dow ‘fb (3. F

v

b. What is the minimum possible value of this decimal? Use words and the number line to explain your
reasoning. Include the midpoint on your number line.

The punimun Possc‘lole, Va lue would be s
13.7 12065 . This number 1s: the Mid,ﬁoi‘v";‘«
between 3.0 and (3«7

—

0.6

<€

EUREKA ) Lesson 8: Round a given decimal to any place using place value understanding

MATH_ and the vertical number line
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Name

Date

1. Write the decomposition that helps you, and then round to the given place value. Draw number lines to
explain your thinking. Circle the rounded value on each number line

a. 43.586 to the nearest tenth, h

undreﬁ , and one. m
43.58¢C o es s %uweiw.,!

q L yrs9
59 ¢
“" 75,599
'-\3 D 4358
b. 243.875 to nearest tenth, hundredth, ten, and hundred v

. 243.875 ‘W.ow\s tens V‘%@Eh““d

+2u3.° % ﬁ
o e i 243+ ‘3
1355
2850 249 . 8 +243- 319
243 o )
. 1243.8
200 L4 N

o351
N
2. Atrip from New York City to Seattle is 2,852.1 miles. A family wants to make the drive in 10 days, driving

the same number of miles each day. About how many miles will they drive each day? Round you,r
answer to the nearest tenth of a mile
St s = BT
2852

The Jfﬁlm/-/ will dyive 28592 e d.a///

S A S) A e e e e
EUREKA Lesson 8: Round a given decimal to any place using place value understanding
MATH.. and the vertical number line
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3. Adecimal number has two digits to the right of its decimal point. If we round it to the nearest tenth, the
result is 18.6.

a.

What is the maximum possible value of this number? Use words and the number line to explain your
reasoning. Include the midpoint on your number line.

Tko MUA X | n e essnb?«e Val,ue

—-:18.7(1870hundredths) WO(,L\A be \3-@‘-\ - Bdu)eCW
} 8 \g})\sc%ist\/u
Z""B'"é 1 -Gt Wwahest number oY rounds

C\me to \8:6.

fliges 4 all o g

6 |

<€

What is the minimum possible value of this decimal? Use words, pictures, or numbers to explain your
reasoning.

A..@ The minimum poSS(W v
k5 \& \8:959. This  humbbel S

T e midp ol betweew 185

and- A\g-G., T\x€¥€§0!f€ IS The
185 \CQ,S‘\' V\MWV‘DW( 'H«"@t "OO‘MJ 4 u“?

Yo \8:6.

EUREKA
MATH

Lesson 8: Round a given decimal to any place using place value understanding
and the vertical number line
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Name

Date

1. Solve, and then write the sum in standard form. Use a place value chart if necessary.

D ®
9\ one(s) 5 tenth(s) = é’ ,i
__\?_ hundredths = _LQ-_B
27 hundredths + 5 hundredths = _Z_L hundredths = _ 3 tenths __ & hundredths = L3 A
1 thousandth + 2 thousandths = 55 thousandths = 0 y 005
35 thousandths + 8 thousandths = ’fﬁ_ thousandths = _Lé_ hundredths _,_ﬁ thousandths = 2_0_0‘/3
6 tenths + 3 thousandths = Q@ : thousandths = 0 ° é 03

7 ones 2 tenths + 4 tenths = Z (4 tenths = 2 = <°
2 thousandths + 9 ones 5 thousandths = z { Zé :2 thousandths = ‘7‘ oo ?

1tenth + 2 tenths = 3 tenths =

14 tenths + 9 tenths = Q a tenths =

1 hundredth + 2 hundredths =

2. Solve using the standard algorithm.

a. 03+0.82= ! [o o

03
* o.22

oo g

b. 1.03+0.08 = l. ”

!
).03
+@.02
B AR e

) -1

c. 7.3+28=_)0./

i

T >
’4';1.8"
i

lo.1

d. 57.03+208=_ 4O
} i
57.03

™ 2o

SRR
o 1

Eu“kA V 1 Lesson 9
MATH
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e. 62573+ 4328=_(L,& . AAON
1)
Gyl s
t 4.328
6 Aol

f. 85.703 +12.197 = Q:Zbﬁ
g5 b3

Fiasl al
——————————
q7.900

3. Van Cortlandt Park’s walking trail is 1.02 km longer than Marine Park. Central Park’s walking trail is 0.242

km longer than Van Cortlandt’s.

a. Fill in the missing information in the chart below.

wfude
T .24

A oSHU2Q

‘ New York City Walking Trails
1.2%
_{_ Central Park 905 q LS km
T Yoo
-—‘—9—:";3"0__' Marine Park 1.28 km
Van Cortlandt Park 2.3 km
Vaw Cort \avw\ 5
tran)
b. If a tourist walked all 3 trails in a day, how many kilometers would he or she have walked?
e R o S
PR

Cg 6}@ Wou‘A h,t?p\/&

(o-l & walked 6-122 Kwv

4. Meyer has 0.64 GB of space remaining on his iPod. He wants to download a pedometer app (0.24 GB), a
photo app (0.403 GB), and a math app (0.3 GB). Which combinations of apps can he download? Explain

your thinking.

P=0, 24 V\&ﬁe// i [dsoplon

Ph=0.1403 Pand M or Phand M.
WCMV\O_(' 0L0wn(0&.a

M :043 M
1Pd <0.04 Uf)

nd Pl becawse
\5 vw‘tovewjh w«ewwry \ﬁH

Y
L(O}

EZE)

T T AT Ty T

to a written method

EUREKA ‘ Lesson 9: Add decimals using place value strategies, and relate those strategies

MATH
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Name Date

1. Solve.

a. 3tenths +4 tenths = 3 tenths
b. 12tenths +9 tenths = 2 , tenths = ‘g one(s) / tenth(s)

c. 3 hundredths + 4 hundredths = 5 Lf hundredths

d. 27 hundredths + 7 hundredths = 3 Ei hundredths = 3 tenths L/ hundredths

e. 4 thousandths + 3 thousandths = ! thousandths

f. 39 thousandths + 5 thousandths = L/ Z thousandths = L} hundredths Q thousandths

g. 5tenths + 7 thousandths = 50 [ thousandths
)

h. 4 ones 4 tenths + 4 tenths = él 8 tenths . 0OY
t¢ 008

i. 8thousandths + 6 ones 8 thousandths = LO& thousandths /m

2. Solve using the standard algorithm.

a. 04+07= I;! b. 2.04+0.07?= ;o ”

DY
O .
+@o‘:" to. o

/T
-—T:’\‘— ’\‘ ,
c. 64+37=__10.1 d. 56.04+3.07=_ 59 {{

!

G‘L[ géuéq
T30
/2_.1'. + 2,67

S 59q-1 |

T Ee WSS e R S S e e N e e e e =

EUR!KA Lesson 9: Add decimals using place value strategies, and relate those strategies
to a written method
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e. 72.564 + 5.137 = fz 7361 f. 75.604+22.296=_& hﬂ

72.56Y4 75.604
5,137 + 2202496

71 1% T978ce

3. Walkway Over the Hudson, a bridge that crosses the Hudson River in Poughkeepsie, is 2.063 kilometers
long. Anping Bridge, which was built in China 850 years ago, is 2.07 kilometers long.

a. What is the total span of both bridges? Show your thinking.

2.06%5 2.065
20T Ta.el
4 % L

The Total span 15 .33 Kin

b. Leah likes to walk her dog e Walkway Over the Hudson. If she walks across and back, how far
will she and her dog walk?

B ot
=

L They will walfh H:-22¢ Frv

4. For his parents’ anniversary, Danny spends $5.87 on a photo. He also buys a balloon for $2.49 and a box of
strawberries for $4.50. How much money does he spend all together?

$ 5-87 L.k
2.49 4 41

Aot
¢ 4050 ____rg._:—-:g"z:

e sperds 31280

he= =1
EUREKA ‘ Lesson 9: Add decimals using place value strategies, and relate those strategies

MATH to a written method
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Name Date

1. Subtract, writing the difference in standard form. You may use a place value chart to solve.
] S
a. 5tenths—2 tenths = 3 tenths = 0.

b. 5 ones 9 thousandths —2 ones = 6 ones Q thousandths = 5 -0 o 07 \

c. 7 hundreds 8 hundredths — 4 hundredths = 7 hundreds Q hundredths = 2 0o. (D L/

d. 37 thousandths — 16 thousandths = GL Z thousandths = 0 e 09\ / Bo O 37

—0+0 | ¢
o8|

o.{ﬁsl

2. Solve using the standard algorithm.

a. 14-07=_(D.F b. 91.49-07=90.79 [ c 19149-1072=/F0. FH

.y __Q/:g/l‘/ 19149
el 0- g

07 W B O

d. 7.148-0.07= 7. e. 60.91-2.856= -O9Y% 7. 36131-2.841= o
Z-07% 5%-00

7.148 ¢e Al Bci.21
= — A-856- = g.g‘{/

e7¢ |5t | Zeg e

S — e

EUREKA Lesson 10: Subtract decimals using place value strategies, and relate those
strategies to a written method
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3. Solve.

a. 10tens—1ten1tenth

[60.
oo

e

b. 3-22tenths

s
2.3
O «%

€.

37 tenths — 1 one 2 tenths

3.0
|2

———

A H

% .09
3.4

/_—-——

4 ca

d. 8ones9hundredths—3.4 | e.

5.622 — 3 hundredths

Golo 2 X
.05
5 .59

[

£

g

——"“"“_"_——"—-‘

2 ones 4 tenths — 0.59

oy
| - B |

4. Mrs. Fan wrote 5 tenths minus 3 hundredths on the board. Michael said the answer is 2 tenths because 5

minus 3 is 2. Is he correct? Explain.

0.5
B0

/—

o .41

Michael
JYCV\‘W\S )

1S wrong

ot the 3 s
wndaed the -

The S are

5. Apen costs $2.09. It costs $0.45 less than a marker. Ken paid for one pen and one marker with a five
dollar bill. Use a tape diagram with calculations to determine his change.

e 4 2. 0%
Minu$1

4209

00
gt

2.09
o. 49

1 % B 5

l;(ooc( {zg 7 ]:' 452

EUREI(_A
MATH
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Name Date
1. Subtract. You may use a place value chart. .
9.002
a. 9tenths-3tenths = Q tenths -3,
e —
b. 9 ones 2 thousandths —3 ones = Gl ondT S e —thmmsandths '
Hoo .06

C.

d.

4 hundreds 6 hundredths — 3 hundredths = ! hundreds 22 __hundredths SR « Q7
56 thousandths — 23 thousandths = 3?72 thousandths = & hundredths 5 thousandths

2. Solve using the standard algorithm.

a. 1.8-09=_@.9 b. 41.84-09=4p .94 | c 341.84-21.92= 2} G ]

-8 e 241.8¢
o9 __[7%0/?4 e Al.- 9 2

-9 e R AT A

709 ¥

P

d. 5.182-0.09= %J__Qg). e 50416-425=Uf . |Lb| f. 741-391=_T] 32:07

5. 182 500 4l6 741,00

—eaas
5 0Ad e .lee 73T

I S i
EUREKA ‘ Lesson 10: Subtract decimals using place value strategies, and relate those

strategies to a written method
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3. Solve.

a. 30tens-—3tens 3 tenths b. 5-16 teﬁths c. 24 tenths—1 one 3 tenths
_—»30010 5 <O Re L"
30.3 I . T vl T 00
=Y

e 7 =

d. 6ones7hundredths—2.3 | e. 8.246 -5 hundredths f. 5ones 3 tenths —0.53
(p & 0 —? g » 2““ L 5 P 3

2.2 . | tfez. . |0:52

S 17 Bepe o ey

4. Mr. House wrote 8 tenths minus 5 hundredths on the board. Maggie said the answer is 3 hundredths

because 8 minus 5 is 3. Is she correct? Explain.

_——0.?9 % ta—1S mn\)', 2'}&4/%_5
o ;75 minus S ;Luhéérfﬁbﬁffg 5

75 /xmmﬂtwcl‘y’lf

. Aclipboard costs $2.23. It costs $0.58 more than a notebook. Lisa bought two clipboards and one

notebook. She paid with a ten dollar bill. How much change does Lisa get? Use a tape diagram to show
your thinking.

e 3
Cl\‘ \opa\d éa“g‘a ____6281
\A,Jre\?\oa@\?g 4 -/‘4’5/ Pulo D
i ey
0,1023 +q' - - 6.[}
) L’; o < , Lo .ev 5‘g“€l

EUR!KA l Lesson 10: Subtract decimals using place value strategies, and relate those

MATH strategies to a written method
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Name : Date

1. Solve by drawing disks on a place value chart. Write an equation, and express the product in standard

form.
a. 3copies of 2 tenths 2 V b 5 grc:wups of 2 hundredths l
- :
> TS _X‘:O tent hund e ths
o # v =
® 0 O °6
g e

C.

e. 5timesas much as 7 tenths 0. 7 f. 4 thousandths times 3

havdredfhd Thou

® ——

* 2. Draw amodel similar to the one pictured below for Parts (b), (c), and (d). Find the sum of the partial
products to evaluate each expression.

A 7iX3:12 3 ones + 1tenth + 2 hundredths

7 7 X 3 ones 7 X 1 tenth 7 X 2 hundredths

Mol fesais - RREON

425
xe

nynd e dbhS | 15.50

5-50

b. 6x4.25 i 2 tovths ghqm{w&{fﬂ(
2
b L’ oIS l%ﬁm\ S0
|
2d TR 0630 = X
IUREE e iy dcml oy s dt o e e s

understanding, and explain the reasoning used
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5e1

SonBias o AeS Yones G tewthe 9 humeJtﬁi '_‘*25
C. copies of 4. :
FEETEMERT i D e

G e sl S

d. 4timesaS£1uchaszo.075 Q TS T 0 eV\‘HS ﬂ%ﬁé_‘d 5’”@“&#&4’
20.675 \L’—] gro  |4x0 Ax T I 4x5

i

G X A AxZ 1%
—)f-—é—'—fo*;’g;;—o L{- \80 _\,, 6 .\‘ o .0 O-Z% 0002,0

3. Miles incorrectly gave the product of 7 X 2.6 as 14.42. Use a place value chart or an area model to help
Miles understand his mistake.

l.’.
o Lovs  Qones | @terthl

lllé:i \ Lkl =

ety e 0%

4. Mrs. Zamir wants to buy 8 protractors and some erasers for her classroom. She has $30. If protractors
cost $2.65 each, how much will Mrs. Zamir have left to buy erasers?

‘;\3325 $ 30.00
Y B —¢$ 2).20

WW

- Mys Zomiv w\-Vl hove $18.80
r erasers

= s

EUREKA
MATH
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Name ' Date

1. Solve by drawing disks on a place value chart. Write an equation, and express the product in standard

form.
a. 2copies ofitent_:; O L(- b. 4 groups of 5 hundredths G s © 9
= /
0-%
c. 4times 7 tenths 0 a'T d. 3times 5 hundredths

ves°”® y}

; o® — o Ry
Rl GENS
e. 9timesas much as 7 tenths Lo} ~" f. 6 thousandths times 8 O+ OOG)

Jevtths [thousoud Yn s

2. Draw a model similar to the one pictured below. Find the sum of the partial products to evaluate each

expression. 2 }
a. 4%X6.79 6 ones + 7 tenths  + 9 hundredths G °7 0‘
- X Y
4 4 X 6 ones 4 x 7tenths | 4 X 9 hundredths 27 A6

g - 7% ndlSe e

Lesson 11: Multiply a decimal fraction by single-digit whole numbers, relate to a

EUREKA . written method through application of the area model and place value
MATH" understanding, and explain the reasoning used
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’]owés Ll ‘!ev\‘H\s 0\ l’tquPcJ‘HLj

b. 6><749 b m L(’)(&é_‘ :
74% =+ T + 0.5¢4 - 4.9y
<6 ;

e AR
4.1 2
c. 9 copies of 3.65

& 3 ones ¢ Yeths 5 L\/(AVM:J‘(‘“CJ‘LM
_jfg_ff-— K [_91.732 - e | axs

22489 23t 5.4 g o -32.95

d. 3times20.175

gofﬁ'b Aerdhs Oonce  \evding 7 hundred the § thecgndpy
Sa . ame Dye 3@l l2a e |
 TGOTRAS L0 ‘o %03 ¥ 621 + 00\5_

3 Lear%rle multiplied 8 X 4.3 and got 32.24. Is Leanne correct? Use an area model to explain your answer S AS

A 3iA P e
%V: - + 9\."{ :30.[*;175

Leavune S UJ‘/D':S\-

4. Anna buys groceries for her family. Hamburger meat is $3.38 per pound, sweet potatoes are $0.79 each,

and hamburger rolls are $2.30 a bag. If Anna buys 3 pounds of meat, 5 sweet potatoes, and 1 bag of
hamburger rolls, what will she pay in all for the groceries?

* \\> 050
23 "dSO%( W a swo WY
o 32 3\0&@3,3;@5 Y 343
o e 20
$ 0.1t i Tk

Anna will pay $lo 3

Multiply a decimal fraction by single-digit whole numbers, relate to a
written method through applicatiqn of the area model and place value
understanding, and explain the reasoning used

EUREKA
MATH
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Name . g Date

1. Choose the reasonable product for each expression. Explain your reasoning in the spaces below using

words, pictures, or numbers.

a. 2.5x; = il

100

b. 3.14% 7 2198 "219.8 21.98
2
a4

P
2\ A%

2.198

c. 8X6.022 4.8176 @.176 ) 481.76

(.022

4817.6

d. 9><5.4; 493.2 @isz ) 4.932
Ly

%9 e
45"

0.4932

Eum Lesson 12: Multiply a decimal fraction by single-digit whole numbers, including
MATH— using estimation to confirm the placement of the decimal point.
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2. Pedro is building a spice rack with 4 shelves that are each 0.55 meter long. At the hardware store, Pedro
finds that he can only buy the shelving in whole meter lengths. Exactly how many meters of shelving
does Pedro need? Since he can only buy whole number lengths, how many meters of shelving should he
buy? Justify your thinking.

& o
0.59
\“u-

b —

..-E = ,l &5

i neels CXQ&\\, “2.20 meters: So ke weeds o 300513 M.

3. Marcel rides his bicycle to school and back on Tuesdays and Thursdays. He lives 3.62 kilometers away
from school. Marcel’s gym teacher wants to know v about how many kilometers he bikes in a week.
Marcel’s math teacher wants to know exactly how many kilometers he bikes in a week. What should
Marcel tell each teacher? Show your work.

Bl A
L

.18
Marze | rides exactly 1098 6m or gbeut 19 Km.

4. The poetry club had its first bake sale, and they made $79.35. The club members are planning to have 4
more bake sales. Leslie said, “If we make the same amount at each bake sale, we'll earn $3,967.50.”
Peggy said, “No way, Leslie! We’ll earn $396.75 after five bake sales.” Use estimation to help Peggy
explain why Leslie’s reasoning is inaccurate. Show your reasoning using words, numbers, or pictures.

i T
=T - eils a1

e R S - T S oI

i R
EU“ Lesson 12: Multiply a decimal fraction by single-digit whole numbers, including
using estimation to confirm the placement of the decimal point.

MATH =
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Name Date

1. Choose the reasonable product for each expression. Explain your thinking in the spaces below using
words, pictures, or numbers.

a. 2.1:%3 0.63 63 630

2.0
o
/"":'é"ez

b. 427 X6 2562 2562 Q 2.562
e (552
de27
¥l i

25 b &

C. 7 X 6.05%‘ 4237.1 423.71 4.2371
B W
&+ 093
R
%Q__é e \
d  9x48 4338 433.8 4338
= ]
4. 82
%4 ‘ g .
/-‘-'*g :
'4 3 93 . ' 18

-

2. YiTing weighs 8.3 kg. Her older brother is 4 times as heavy as Yi Ting. How much does her older brother
weigh in kilograms?

.
b
332

' \I,l TW‘@‘$ b(b"w Weiq\f‘vs 330 ZKoy

Lesson 12: Multiply a decimal fraction by single-digit whole numbers, including
using estimation to confirm the placement of the decimal point.

EUREKA
MATH
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3. Tim s painting his storage shed. He buys 4 gallons of white paint, and 3 gallons of blue paint. Each gallon

of white paint costs $15.72, and each gallon of blue paints is $21.87. How much will Tim spend in all on
paint?

o 1
§F= . dae7 o onit
)(L{ o 7L3

ou gel, . B

Tim will spend (28 44

4. Ribbon is sold at 3 yards for $6.33. Jackie bought 24 yards of ribbon for a project. How much did she

e

pay? L R - W - L
34&3;2 6@033 %»" 3 . (lel
: X8 er B, ARG
: e
~Dissgo et

Jecthie {)am\ b 5?“ &y

EU“KA Lesson 12: Multiply a decimal fraction by single-digit whole numbers, including
using estimation to confirm the placement of the decimal point.
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Name

Date 00 L/

1. Complete the sentences with the correct number of units, and then complete the equation.

a. 4 groups of i tenthsis 1.6.
b. 8groups of Q hundredths is 0.32.

c. 7 groups of , v thousandths is 0.084.

16:4= 4 [7l -6

£ N : © OL/
032:8= Qtﬁi gm
0084:7=_ D012 e

20+5= (291 : ‘,7‘ £ i

d. 5 groups of L tenths is 2.0. 0
‘ 7o 8-
5ig B
= —
2. Complete the number sentence. Express the quotient in units and then in standard form. o
a. 42+7= I‘/ & tenths +7 = Q tenths = 0- Q
b. 264:2= g ones +2 + Ca L/ hundredths + 2
= / ones + 5 9\ hundredths
- Ak
c. 1264+2= \ 9\ 6nes +2+ (P jl hundredths + 2
= (/ ones + 3 A hundredths
Lesson 13: Divide decimals by single-digit whole numbers involving easily
EU“KA } idle:nifiable multiplels using|pllace value understlandin|g and l
MATH" relate to a written 63
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d. 4.26+6= 4 2‘ tenths + 6 + <,2 hundredths + 6
7 denths + | bhusdsedtl
0.7/

e. 4236+6= 42 teunths = ¢ + 5&"1’%(,&4/:4&1!"; &
e R il
: G700

36
3. Find the quotients. Then, use words, numbers, or pictures to describe any relationships you notice /25"
between each pair of problems and quotients.

a. 32:8= 4 32:8= 0,17/
TS 2o i 8

b. 81+9=_L postee= O 0OO9
5l is ©&.08]XMee0

4. Are the quotients below reasonable? Explain %our answers.

0.
a. 56+7=8 /\/0, 7\5.,9
’ S N i A
b. 56:7=08 /o 7\—'2/2 0.08
= ‘

= oo

c. .56+7=0.08 \Lles,’

Lesson 13: Divide decimals by single-digit whole numbers involving easily
EUR! ’ identifiable multiples using place value understanding and
M ATH' relate to a written
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5. 12.48 milliliters of medicine were separated into doses of 4 mL each. How many doses were made?

sl
411248
(2

o)

L
O Ox

There weve 3 desec wade

6. The price of milk in 2013 was around $3.28 a gallon. This was eight times as much as you would have

probably paid for a gallon of milk in the 1950s. What was the cost for a gallon of milk during the 1950s?
Use a tape diagram, and show your calculations.
ot

20(3—% 328 £ 2228

=25

550 — do-4/ % ol

o8
“%
)

The cast of milkwauld be do.gl m 1992

$3-22 =
£ % = vt
RENEEE ?|

'4( ‘l.(’ ¢L// dl'// Oq/ "yI/ l‘/'[ '{{,

Lesson 13: Divide decimals by single-digit whole numbers involving easily
EUREKA identifiable multiples using place value understanding and
MATH' i relate to a written
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Name Date

1. Complete the sentences with the correct number of units, and then complete the equation.

a. 3groups of 5 tenths is 1.5. 15+3= L

b. 6 groups of H hundredths is 0.24. 0.24+6= 0. l_'g
c. 5groups of El thousandths is 0.045. 0.045+5=__ ( 2 - OO\

2. Complete the number sentence. Express the quotient in units and then in standard form.

a. 936+3= Cz ones+3 + 3¢ hundredths +3 , ; ';c’
2 L1

= 3 ones + /2\ hundredths 67

©3
= '! ,l & ;3__
=T
V4,00 =
b. 36.012+3= 3 (o ones:3+ /& thousandths + 3 3 \3.7;____‘:__0_‘1;{2_-
= / 2 ones+__ . L'I[ thousandths %Q‘ :
.12 . 004 ' :'660 &
42
: : ()

c, 355+5= _:55 tenths +5 + 5 hundredths + 5 5‘} .gg

e = LT S U
0.7]

ST R

Lesson 13: Divide decimals by single-digit whole numbers involving easily
EU“KA identifiable multiples using place value understanding and

MATH relate to a written
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3:

5e1

o 7
d. 3545+5=_ 35 Tenths=h 149 Thousand the 5 5&%5

39

3 ‘tm(t‘“ﬁg + aq thewsand ths T oys

4 o

709 ot

<o

Find the quotients. Then, use words, numbers, or pictures to describe any relationships you notice

between each pair of problems an

d quotients.
21+7= 0-2

el O Md@{{s are The same.

The decimal ’z)&!,ﬂz MVES ené }9/4266«

a. 21+7= &
21 /35
b. 48:8= ¢

0.048 +8 = 0- 006

4. Are the quotients below reasonable? Explain your answers.

a. 054:6=9
&

b. 54:6=0.9
&

Ug is o-o48xteve T he

The dccmwt/ /fﬁff?i MOYES
three places
©+09 No. 9xe=&Y . The ?W/;zn-t

"
@ lus 15 e 007 because e
- d—ﬂlldfﬂd 5 0'54

0.9 ies. 0.9x6= &4

EUREKA
MATH
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/q
c. 54+6=0.09 L ‘55‘(-! QX654
“—  No- ex0.00= 059 ne? 5¢

5. Atoy airplane costs $4.84. It costs 4 times as much as a toy car. What is the cost of the toy car?

Tquirp?amo ot
F;ﬁ—l.ﬂz §.54 A414.34

fo\[ cars - gg

3y

—

/‘%@ywr COSfS $/o7/ —

6. Julian bought 3.9 liters of cranberry juice, and Jay bought 8.74 liters of apple juice. They mixed the two
juices together, and then poured them equally into 2 bottles. How many liters of juice are in each bottle?

cvanboercd 3,9 Vilers A =
apple - 3. 74 Llecs EENESTI

R RSN

itle | beitle L

—
it '3
P s
neach beottle =
Thae-ace - Caak litexs 1 o
@]
Lesson 13: Divide decimals by single-digit whole numbers involving easily
EUREKA 1 identifiable multiples using place value understanding and
MATH' relate to a written 68
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Name

Date

1. Draw place value disks on the place value chart to solve. Show each step using the standard algorithm.

a. 4.236+3=‘_‘LH2‘

Ones l Tenths Hundredths | Thousandths
ek 3@( OL* ( Z‘
#75-7&50 pAA =Y=v)
\
>ddeny r 34.236
R 2
o=
P j o
(o) Cooo o -"'! 7
"""""""""""""""""""" B e o =
o coo © o p _,3
--------------------------------------------------------- ra—— é
(7 CC6 o o oo o
b 1.324=9=
Ones Tea_ntljs Hundredths Thousandths
3 : 0,6=
o o v 9 oo
o el i 95599 ofe-3-7 4
g - Wy l Z
gt
___________________________________________________________ | &
0o600° |poe® |o o '“\2
""""""""" pooo |[ooooO |00 C’_'H
7] 2] (53
O
Divide decimals with a remainder using place value understanding and

EUREKA
MATH'

’ Lesson 14:

relate toa
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2. Solve using the standard algorithm.

a. 078+3= 024 b. 728+4=\-%2 c. 1745+5= 5'4‘?
0.2(9 3.‘*

= (.BA
»l 018 LFZ—:Z—"% 5 _%;.45

e Z
= /32' Z o
18 32 —e
% %5
e

s

6

3. Grayson wrote 1.47 + 7 = 2.1 in her math journal.
Use words, numbers, or pictures to explain why Grayson’s thinking is incorrect.

Os 5 o 2 A J&M}t-
.47 C n misplaced the decoma? |
7(’1”‘ ’\'raiyi,?\nd;& {Z)«j 7 % Ol pst 1o He

‘-:gil cou\d have che c¥ed (03 thHi?:,'j; ng
2 Ix 2<L. Ths give 4e7 net I

4. Mrs. Nguyen used 1.48 meters of netting to make 4 identical mini hockey goals. How much netting did
she use per goal?

Torr  RILRE e
¢ - MLA

et

e Mys Nguyen used (.37 wv per ’
844 = p3t J

"H € 0-

5. Esperanza usually buys avocados for $0.94 apiece. During a sale, she gets 5 avocados for $4.10. How
much money did she save per avocado? Use a tape diagram and show your calculations.

o2 q aweoco e® ,
5)6\%10 /Zigfé\ REIIEIEL D o
400 = o | # ~-1Mmaéo,&o,gg_

4%

=
EUREKA ’ Lesson 14: Di\llide decimals witha;ergainde_r using place value understanding and
MATH relate to a written method.
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5e1

Date

Name
1. Draw place value disks on the place value chart to solve. Show each step using the standard algorithm.

a. 5.241+3=
Thousandths

Ones Tenths g Hundredths
leseo o
\sgﬁ 330'-4”“ 35 . 5 1
o MR 2
____________ ] ‘mﬁf___-____-_-_____,____---__---_--_ e
© 00020 e o© 200 ol
_____________ WO | e (e e q_
- o oo © P PRI~ ] /l
P e e e e DR e /_\,.Q—-
© N §
T
/“'—.o.
b. 5.372:4=
Ones Tenths Hundredths Thousandths \ 5 L\ 3
W\-'I D\Q 4'5.3.72
Nole {lo Him
o
&o? —
o o O Ccooo \ ;Z
i b
=t
ke
L bR
12
- __ﬂ/
(&
o o0 0 0 ©00 600
Divide decimals with a remainder using place value undentanding;n'; e R
71

= RET
Le: 14:
EURTEHK_A g relate to a written method.
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2. Solve using the standard algorithm.

a. 0.64+4=0<) (>

b.

6.45+5=1.29

c. 16.404+6= 7,:-'13?

gt .29 ;(_3_‘_-(:_
o e AR
G 0 ‘

&g\ﬁ\

QJ’
!
(NN
S

3. Mrs. Mayuko paid $40.68 for 3 kg of shrimp. What's the cost of 1 kilogram of shrimp?

12,956 rnm ,
K—— =lO.S
sres [liizl®
2 \Kj:$ 15-59
=
=t
|

S0 . ,
/Ls_'
S Al
4. The total weight of Gﬁeces of butter and a bag of sugar is 3.8 Ib. If the weight of the bag of sugar is 1.4
Ib, what is the weight of each piece&f l:uger? hette . Suad ¥
.3 el2.y [[1.4]=3-8 b
2 .4 o =2.4 \\b
LP\CC& 1S o.t | o

(S‘»Hmy cos s $13.56

 Owe prece of butler w’eij‘hs o.u b

Lesson 14: Divide decimals with a remainderA using place value understanding and
relate to a written method.

EUREKA
MATH
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Name Date

1. Draw place value disks on the place value chart to solve. Show each step in the standard algorithm.

a. 05+2= 0925- '

b. 5.7+4=

o ocoo © © o owoo@

EUREKA l Lesson 15: Divide decimals using place value understanding, including

MATH.. remainders in the smallest unit.
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2. Solve using the standard algorithm.

a. 09+2= b. 9.1+5= cr 19si6= / 5
0-45 " Y82 i
2(0'6% 5|4.! & \,2

e 5 =

o 1 Yy 30

o o ——e
O
e
o
d. 0.98+ =0 2. 5 e. 93+6

‘95 f 91+4=Z ._(5
U loAas bt > t”’“

q.
£ “

B
18 32 It
“Fe 2o ek
Zo 30 20
&% 20 B
— ——— O
o o 20
-——p;—ﬁ
o
3. Six bakers shared 7.5 kilograms of flour equally. How much flour did they each receive?
- G fél o, ) b
—= 5 K legrams each-
A3 They receved 1129 Koty
>6
4.

Mrs. Henderson makes pu%ch by mixing 10.9 liters of apple juice, 0.6 liters of orange juice, and 8 liters of

ginger ale. She pours the mixture equally into 6 large punch bowls. How much punch is in each bowl?
Express your answer in liters.

' 3.25
: N O, ;
Apple Juice 100 Lifers s AT
Ovzwscj"““ 0-6 Liflers 0.6 __\_3_5
L
Guar okt 3. Lites 15 i
30
a3
_Eadn Voow\ hao 3,25 lifers
EMUARTEHKA ’ Lesson 15: ?ei;lri\:?n:eeii:;:ltsh:sg::;l’ll::teuvnailil,m understanding, including

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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Name Date

1. Draw place value disks on the place value chart to solve. Show each step in the standard algorithm.

a. 07+4= 0" (75

!u““ Lesson 15: Divide decimals using place value understanding, including
remainders in the smallest unit.

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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2. Solve using the standard algorithm.

a. 07+2= 35 b. 39+6= 5 9+4=
:1\0:" 36: o
e & ”j}ué 4- !f{
(®) zZ°
/& o — Soeie
e P,?)O | ©
et P ”’"i"oo
d. 092:2= e 94:4= e
ME e o Al 515
2 .ﬂgz ¢ Mgu % %;
2 a4 e
A \2_ o
o 20 S
22 _ 2o
e =
&
__.Q.:‘-f-o
3. Arope8.7 meters long is cut into 5 equal pieces. How long is each piece? C:)
18 5 2[RI 87w
pleces 7
’—7

—20

had 0.3 gallon of apple juice left. How many gallons of apple juice are in each container?

Each pece 1S €T l°"‘f)

4. Yasmine bougﬁf’é’gﬁons of apple juice. After filling up 4 bottles of the same size with apple juice, she

Apple Juice ¢ gallens

betties .
Juwice \eft

EUREI(A
MATH
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Tlnue a;r& \»426\«34&{0}\5
2, cla (:m"kdm(

’ Lesson 15:

O.?)jqﬂ!ﬁ\

s | 425
o o = ‘f"(‘;_':l-
9.7 "‘T’-I—
e .

Divide decimals using place value understanding, including

remainders in the smallest unit.



Name Date

Solve.

1. Mr. Frye distributed $126 equally among his 4 children for their weekly allowance.
a. How much money did each child receive?

. o et
4 "’(2
fz.-%’ = Badh C‘ulCl 5&"{'5 £ 3{*50.
=

b. John, the oldest child, paid his siblings to do his chores. If John pays his allowance equally to his
brother and two sisters, how much money will each of his siblings have received in all?

Il
e CHRRY T
= 2 (o) 108G i 2.5
ols 3l.9elle-5el™ -+ . to.50
"‘Tso | ﬁ"oc
0 -

Eadh sibl i«nﬁ Yeceyed%52.0°

2. Avais 23 cm taller than Olivia, and Olivia is half the height of Lucas. If Lucasis 1.78 m tall, how tall are
Ava and Olivia? Express their heights in centimeters.

. J 2\\1%
Lacas [ T8 m Oling: P
oliviw. V1852 TRt ep
Ava,  Olvia +23cw EAcm T2

A\/a 1

Olma (S chwv‘fau[ ’ é}_

Ma s \2cm Taul

e =SS

EU“KA ’ Lesson 16: Solve word problems using decimal operations.
" MATH

77
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3. Mr. Hower can buy a computer with a down payment of $510 and 8 monthly payments of $35.75. If he
pays cash for the computer, the cost is $699.99. How much money will he save if he pays cash for the
computer instead of paying for it in monthly payments?

79¢ .00
s o 2 |
el - sargs
KR * é
e wts 1.4

B puy me

Mr Hower will save 4aco!

4. Brandon mixed 6.83 Ib of cashews with 3.57 Ib of pistachios. After filling up 6 bags that were the same
size with the mixture, he had 0.35 Ib of nuts .'!eft. What was the weight of gach bag? Use a tape diagram

and show your calculations. c ’ '
: 2 683
GU§\1€‘A)S (ﬂ g5 lbb nga l 3657 "T ‘-:"3:‘5_‘:2—

091

el \o-;fg

}‘oqjs aet
wﬁéﬁ—‘%

"'7_’(()
,3é

Eac\/\ \oafj we(j\m.s L5 lb -’ﬁs
T Ba
= e
EUR!KA ‘ Lesson 16: Solve word problems using decimal operations. 5 -
MATH /:;
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5. The bakery bought 4 bags of flour containing 3.5 kg each. 0.475 kg of flour is needed to make a batch of
muffins, and 0.65 kg is needed to make a loaf of bread.

a. If 4 batches of muffins and 5 loaves of bread are baked, how much flour will be left? Give your
answer in kilograms.

] 2
g PR o
ba‘tok‘so‘& "‘g'f{ g 4.0
muftms X 0,475 $g=- 1A K9 s ¥ 1)
' X Vou
es oS o
l‘sfc\laa{r G X 0063 \<3 =3c_»25 t’ﬁ ___g..:-?g T 20
-
X

Theve pnll be 8-89 Ko of Blouclelt . . 926

b. The remaining flour is stored in bins'that hold 3 kg each. How many bins will be needed to store the
flour? Explain your answer.

TN

_2.95 Each contaer holds
3\ % -85 5 Kf"-(()j(ams, Thevefore
Se 2 conleuine(s bl be
;'gTs full and- on€ wil
5 TR L el

o

3 bins will be needted
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Name Date

Solve using tape diagrams.

1. Agardener installed 42.6 meters of fencing in a week. He installed 13.45 meters on Monday and 9.5
meters on Tuesday. He installed the rest of the fence in equal lengths on Wednesday through Friday.
How many meters of fencing did he install on each of the last three days?

: Monda “d“’fz = 565 \'301"‘5
EEMES 2113 T
T

- - /‘1—5 42‘9(3
22.45 : 15 — 2242
=19.65w e | G090

The aavdener ihshzuedz eo56mv of fence cach day.

2. Jenny charges $9.15 an hour to babysit toddlers and $7.45 an hour to babysit school-aged children.

a. If Jenny babysat toddlers for 9 hours and school-aged children for 6 hours, how much money did she

earnin all? =" "‘ ,$\5
Borel [T-? [FE2sEiel? |

(Rt S ~ %235
Aot a2

=3 K238

2 55
X‘N-t

¢ hoar § ‘ Tz—;,—‘”‘

Jepny eoed §127:66 i al
b. Jénny wants to earn $1,300 by the end of the summer. How much more will she need to earn to
meet her goal?

|20 ©0.60Q
2 BTNy

- \\7gﬁ5‘

_Senny peeds 1o cagn § 172.95
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3. Atable and 8 chairs weigh 235.68 Ib together. If the table weighs 157.84 |b, what is the weight of one

chair in pounds? 2 35 52
N ; .
7 C\ t 7.4 =2235.L8 \G % &Y

£ ’an

il A .
ottt -7 e
72
T 58
Owne Chair we-(ﬁ\& .73 b -"‘s/g:(

—_

4. Mrs. Cleaver mixes 1.24 liters of red paint with 3 times as much blue paint to make purple paint. 'She
pours the paint equally into 5 containers. How much blue paint is in each container? Give your answer in
liters. : |

— ved £ |. 24
i . R

Beniis g . 572
weé

[ V[t ]= 2- 7% B

3 Py -
i
e
22
=
. e
A €rS 20
There are osTud liter 1 ==
of llue Pa\nt in eoc
covitaineyr
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